INDUSTRIAL ALUMINIUM PROFILE SYSTEMS

A\uminium
Profile

MODULAR CONSTRUCTION TECHNOLOGIES
ACCESSORIES CONVEYORS SYSTEMS

S KATAAOFOS B

i PRICE LIST o

e 2020 et
AT A 5 SS e-mails sales@aluminium-profile.gr ==~ < {}:

a0 SSibal
ﬂﬁ%}i -- www.aluminium-profile.gr " @fﬂ“m



Industrial Profiles / T Slot Profiles
6 &8 10

A\luminium

Profile

£2 p
20
14 b
>
o J
M f 1 i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Volume | Weight
Ix ly Wx Wy
M 63 20x20 6063 | 0,67cm’ | 0,61cm’ | 0,61cm® | 0,61cm® | 1,42cm? | 0,36 Kg/m
6 8 10
£ (
o
Code Product Name Material Moment of Inertia _|Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 63/A 25x25 6063 | 1,39cnt | 1,39cmt | 1,41cm’ | 1,11cm’ | 2,12cm? |0,55 Kg/m
6 8 10 e
L4 0
10 20 10
8 [ ) - o
e Bl J
w
£ i
]
-
Code Product Name Material Moment of Inertia_|Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 99 20x40 6063 | 4,17cm’ | 1,12cm’ 2,08cm® | 1,12cm® | 2,6cm? | 0,73 Kg/m
6 8 10
80 |
10 _ 20 ‘ 20 ‘ 20 _ 10 ' 5 o
p - S
| ™ ]
3 L AL AL D
]
- o
Code Product Name Material Moment of Inertia | Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 95 20x80 6063 |29,14cm*| 2,12cm’ | 7,28cm® | 2,12cm® | 4,88cm? | 1,32 Kg/m

2

*EAAXIZTO MHKOZ KOIMNMHZ 1200 xIA.



Industrial Profiles / T Slot Profiles
6 8 10

A\uminium
Profile

(> | e
30
23,5
u
»
L/
® \e | -
(/ 8,2
o)
© -
M f 1 i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Volume | Weight
Ix |y Wx Wy
M 22 30X30 6063 | 2,95cm’ | 2,95cm | 1,97ch | 1,97cnt | 3.16cm? | 0,85 Kg/m
6 8 10
£.32 4 2\
ko
- J
M fl i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Volume | Weight
Ix |y Wx W)'
M 30X45D 30x45 6063 | 3,02cm' | 4,57cm’ | 24cm® | 2.2cm’ | 3,35¢cm? 0,91 Kg/m
1
6 8 0 -~
60
53,5
|
S T G ) g
ol ! a7 '! "
™| ™
" L 2 o
N i
7 30 -
o> \_
Code Product Name Material Moment of Inertia _|Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 26 30X60 6063 |20,12cm’ | 546cm | 6,71cn® | 3,64cm’ | 5,59cnf | 1,51 Kg/m
6 8 10
L2 (
90
83,5
i 3
[T 1R T8 2
8 g sl
n]
0
oy 30 30 -
Code Product Name Material Moment of Inertia _|Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 19 30X90 6063 | 63,29ci' | 7,99cmi | 14,06cnt | 5,32em® | 8,12cm? | 2,19 Kg/m

3

*EAAXIZTO MHKOZ KOIMNMHZ 1200 xIA.



Industrial Profiles / T Slot Profiles
6 8 10

A\luminium
Profile

Ve
B0 - \
M fl i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Volume | Weight
Ix |y Wx Wy
HEX 30 HEXAGON STAND 30 6063 14,6 cm* | 14,9 cm® cm® cm’ 6,3 cm’ | 1,72Kg/m
6 8 10
-
u 35
0 a7
™
8,2
-
Code Product Name Material Moment of Inertia_|Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 11 35X35 6063 | 4,55cm*| 455cm* | 2,6cm’® | 2,6cm’ | 3,67cm? | 0,98 Kg/im
6 8 10
(> | -
35
-
M fl i i
Code Product Name Material oment of Inertia |Moment of Resistance Volume | Weight
Ix |y Wx Wy
M 11/A 35x35 Heavy 6063 | 6,7cm’ | 6,7cm’' | 3,8cm’> | 3,8cm’ | 4,92cm’ | 1,29 Kgim
6 8 10
£ (
120
20 40 ) 40 20
e = O%@
(D6 .t o
g o
Code Product Name Material Moment of Inertia _|Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 21 40x120 6063 |200,5cm’| 257cm’| 33,1cm® 13,2cm’|13,93 cm?| 3,76 Kgim
4 *EAAXIZTO MHKOZ KOIMHZ 1200 xIA.



Industrial Profiles / T Slot Profiles A\luminium
Profile
6 8 10
40 4
LS5
-
Code Product Name Material Molinent of In(l-zyrtla Mor;sntofRe5|\sAt/jnce Volume | Weight
X
M 04 40x40 6063 | 7,10cm' | 7,10cm' | 3,55cnt | 3,55cm | 4,49cm? | 1,21Kg/m
40 /
6 8 10
=
-
Code Product Name Material Molr:\ent of In(l-:yrtla Mon\:sntofReS|\sAt/:nce Volume | Weight
X
M 04/A 40x40 Heavy (S10) 6063 | 10,37cr | 10,37c | 6,05cm® | 6,05cm® | 6,12cm’ |1,65 Kg/m
40
6 8 10 | 29 | é
1
S g7 -» :
SV 7
u PR
g el
Q
-
Code Product Name Material Molinent of In(l-zyrtla Morr\;sntofRe5|\sAt/jnce Volume | Weight
X
M 04/G 40x40 Heavy (S8) 6063 | 12,1cm’ | 12,4cm’ | 5,18cm® | 5,18cm® | 7,32cm’ |1,98 Kg/im
6 8 10
L2 1
(e Bl e
a
- L J
60 _ \_
M t of Inertia |M f Resi
Code Product Name Material olinen ° nT |a orwnto eSI\j\t/:nce Volume | Weight
Y X
M13 45x60 6063 |31,29cm'| 1845cm | 10,4cm’ | 8,2cm° | 9,45cm’ | 2,61 Kg/m

5

*EAAXIZTO MHKOZ KOIMNMHZ 1200 xIA.



Industrial Profiles / T Slot Profiles

10
L4

s

(S

pn

.
Lo

A\uminium
Profile

M f Inerti M f Resi
Code Product Name Material oment of Inertia oment of Resistance Volume | Weight
IX I)’ WX W)’
M 12 45x45 6063 [11,09 cm? 11,09 cm?| 4,93cm® | 4,93cm’ | 5,62cm? | 1,52 Kg/m
6 8 10 Ve
(> | 45
>
: PL.
© ‘
-
Code Product Name Material Moment of Inertia _|Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 12/E 45x45 Heavy 6063 | 15,65 cm’| 15,65 cm?*| 6,9cm’ 6,9cm> | 7,63cm? | 2,06 Kg/m
6 8 10
-
Code Product Name Material Moment of Inertia _|Moment of Resistance Volume | Weight
Ix ly Wx Wy
M10 45x90 6063 |78,98cm | 2074 cri' | 17,5cm® | 9.2cm® | 9,63 cm? | 2,60 Kg/m
6
/
2 o
-
Code Product Name Material | Moment of Inertia_ [Moment of Resistance, ;o | wyeight
Ix ly Wx Wy
M 10/B 45x90 Heavy 6063 |108,14 cni| 28,67 cm 24,03cm® | 12,74cm® | 12,86 cm?| 3,47 Kg/m

*EAAXIZTO MHKOZ KOIMNMHZ 1200 xIA.



Industrial Profiles / T Slot Profiles A\uminium
Profile
6 8 10

80 Ve

u 70

40

=/

i

40

] ]
oy

g
Code Product Name Material Homentiofiineita i MomentiefiRes!stance Volume | Weight
Ix ly Wx Wy
M 03 40x80 6063 | 49,98 cni | 13,13 c | 12,49cm’ | 6,56cm’ | 7,67 cm? | 2,07 Kg/m
6 8 10 . p
(| 69
40
)
-
v P =
» ,l
o
Code Product Name Material Homenticfiinsrt 2 Mementiofies!stance Volume | Weight
Ix ly Wx Wy
M 03/B 40x80 Heavy (S8) 6063 | 82,3cm*| 20,9cm? | 17,38cm | 9,25cn? | 11,9 cm? | 2,72 Kg/m
6 8 10
50 /
£
-
o 5 P
g
M f Inerti i
Code Product Name Material oment of Inertia__|Moment of Resistance Volume | Weight
Ix ly Wx Wy
X 7cm’ | 245¢cm ,88cm ,8cm 10 cm ) g/m
M 46 50x50 6063 | 24,7 cmi’ Y | 9,88cm® | 9,8cm’ 2 12,70 Kg/
6 8 10 -
(- | -
85,5
50
T O " =
A3 3 o X B X
| 5 QE)
§  |o2
-
M f Inerti i
Code Product Name Material oment of Inertia__Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 101 50x100 6063 | 175cm* | 452cm* | 35cm’ | 18,1cm’ |16,92 cm?|4,57 Kg/m

*EAAXIZTO MHKOZ KOIMNMHZ 1200 xIA.



E3 4

45
33,8
10,2

L
45 g
M fl i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Volume | Weight
IX I)’ WX W)’
M 60 45x135 6063 | 41,8cm’ | 32.4cm* | 6,19cm® | 14,4cm’ | 18,3cm’ | 4,85 Kg/m
8 10

Code Product Name Material Moment of Inertia _|Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 15 45x180 6063 | 747cm’ | 56,7cm’ | 83cm?® | 252cm® | 254cm’ |6,77 Kg/m
8 10
p
K2 2
f( W‘
1.7 ' .
-
: D%?C;ls T |
\jmfij
-
Code Product Name Material Moment of Inertia _|Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 28 60x60 6063 |29,85cm’| 29,85cm*| 9,9cm® | 9,9cm’® | 8.8cm? |2,46 Kg/m
8 10 p
&
-
Code Product Name Material | Moment of Inertia | Moment of Resistance ,, o | weight
Ix ly Wx Wy
M 28/B 60x60 Heavy 6063 | 41cm® | 41cm? | 13.6cm’ | 13.6cm’ | 11,06 e | 3,27 Kg/m

8 *EAAXIZTO MHKOZ KOIMHZ 1200 xIA.



Industrial Profiles // T Slot Profiles

83,5

/A\luminium
Profile

Code Product Name Material Moment of Inertia _|Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 28/X 60x90 6063 | 59,4cm’ | 122cm’ 26,8cm’ | 46,51cm®| 14,7cm’ | 4 Kg/m
6 8 10
120
£d e
113,5

=

-

!

-'.":'Jr.'qa..
o
M fl i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Volume | Weight
IX I)’ WX W)’
M 28/Y 60x120 6063 | 80,9cm’ | 280,4cm* | 26,8cm’ | 46,51cm’ | 19,7cm’ |5,33 Kg/m
60
6 8 10
- 4
F l
‘
g i ' ‘
.,.-p.
o
M fl i M f Resi
Code Product Name Material oment of nertia oment of Resistance Volume | Weight
Ix ly Wx Wy
M 02/B 80x80 Heavy S8 6063 41 cm’ 41 cm’ 13,6 cm® | 13,6 cm’ | 11,06 cm’|5,37 Kg/m
9 *EAAXIZTO MHKOZ KOINMHZ 1200 xIA.



Industrial Profiles // T Slot Profiles
6 8 10 80 |

A\uminium

Profile

(| 4
8 R
-
Code Product Name Material Moment of Inertia_|Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 02 80x80 6063 | 88,08cm’| 88,08cm* | 22,02cm® | 22,02cm’ | 11,91cm’® | 3,22 Kg/m
80
6 8 10 70
K2 - (
L i, u
— L
o R l"
\ 4 !
S @Q // -
S X o
AP x I A
&{5 10, AN
Code Product Name Material Moment of Inertia _|Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 02/A 80x80 Heavy 6063 |127,1cm’ | 127,1cm | 31,78cm | 31,78cm | 17,77cnd | 4,80 Kg/m
6 8 10
120
LJ 110
40 40
J 17 C:
| o = O I -
ﬁ%@@@ L/
4 Lol L ) [ Y
o o
M fl i i
Code Product Name Material oment of Inertia__Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 02/X 80x120 6063 | 185,3cm’ | 379,5cm* | 60,55cm® | 210,95¢m®| 24,3cm’ | 6,57 Kg/m
6 8 10
(> | s 4
149 )
. 40 ) 40 ) 40 )
X %%
| G 5
LEE \_
Code Product Name Material Moment of Inertia | Moment of Resistance Volume | Weight
Ix ly Wx Wy
MG 160 80x160 6063 | 2422cm*| 843,8cm’ | 60,55cm’| 210,95cm] 30,5cm’ |8,25 Kg/m

10

*EAAXIZTO MHKOZ KOIMNMHZ 1200 xIA.



Industrial Profiles // T Slot Profiles
6 8 10 90

78,5 /
o
M fInertia |M f Resi .
Code Product Name Material olmento n(lartla orr\;snto eSI\sAt/ance Volume | Weight
X y X Y
M 30 90x90 6063 |192,84cr [192,84cm' | 42,8cm’ | 42,8cn? | 20,67ch | 5,58 Kg/m
6 8 10 90
78
u 45 _ 4 e
|
- - ||
S
u =
N
Code Product Name Material M"I':e"t of '"T;t'a M°"\;3"t °fReS'\SAt/;’"°e Volume | Weight
X
M 30/A 90x90 Heavy 6063 |220,49cni | 220,49cnt | 48,9cn? | 48.9cm’ | 25,31cnf | 6,83 Kg/m
6 8 10 - : - e
= Eﬁgfq
|_J,w 'x_r-‘
I-.:?- r'-"s(_!_,-
\ | = i
1 ﬁrg Q [ P 9
M f Inerti i
Code Product Name Material olr:ento nleyrtna Morr\;snt OfReSI\SAt/jnce Volume | Weight
X
MG 100 100 X 100 6063-T5 | 295,4 cm’ | 295,4 cm' cm’ cm* 25,5 cm’ | 6,89Kg/m
6 8 10 160 -
168
N .
Q7102 |11 45 45 45 ‘
M f Inerti i
Code Product Name Material olr:ento nleyrtna Mon\;snt OfReSI\SAt/jnce Volume | Weight
X
M 14/L 90x180 6063 |1240,6cm | 361,5cm | 137,8cmt | 80,3cm® | 37,1cm? | 10,01 Kg/m
1

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA.




Industrial Profiles // T Slot Profiles /A\luminium
Profile
6 8

L4

90
78
45

-
¢/ 102 45 ‘ 45 ‘ 45
Code Product Name Material Moment of Inertia | Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 14 90x180 Heavy 6063 | 1499cri | 427.6crii | 166,5cmt | 95,02cm’ | 46,7cnt | 12,60 Kg/m
6 8 10
135 ‘
123 ‘ e

qg
NI A
10,2
~ 45 45 .
Code Product Name Material | —Moment of Inertia_ |Moment of Resistance " | weight
I ly Wi Wy
M 32/A 90x135 6063 |313,64cm’| 653cm’ | 69,18cm’ | 96,74cm’ | 34,42cni | 9,26 Kg/m
6 8 10
135
4 123

STV

o
LS
B
Lgniica |

135
123
90

b

M fl i i
Code Product Name Material oment of Inertia__|Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 32 135x135 6063 |897,64cm| 897,64cnt| 132,91cm’ | 132,91cm’ | 44,52¢cn | 12,02 Kgim

12 *EAAXIZTO MHKOZ KOIMNMHZ 1200 xIA.



Industrial Profiles / Surface Coating Profiles /A\uyminium
Profile

6 8 10 -
[ [l - |
120
30 30
|
Jp=C | o |
4 0 Qal Sul |3 =
8.2 30| 15 |
[()
-
Code Product Name Material —oment of Inertia_Moment of Resistance) o | weight
x [ Iy Wix Wy
M17 15x120 6063 105,7cm4‘ 21cnt | 17.6cm® | 2.8cm® | 86cn? | 2,33 Kgim
6 8 10
£2E3 (
180
225 45 45 45 225

225
82

| Al DL AL DA,

02|

o
Code Product Name Material Moment of Inertia_|Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 16 22,5x180 6063 |570,9cm | 11,7cm’ | 6343cm’ | 104cm’ | 21,1cn? | 5,70 Kg/m
6 8 10
Ve
(|
140
3B 70 35
| | i
T K &
22 | 9% %'u‘ﬂzz
o
M fl i i
Code Product Name Material oment of Inertia__Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 15 ZE 22x140 6063 365cm’ 7,2cm’ 52,14cm3 6,54cm’ 19,80m2 5,39 Kg/m
6 8 10
Ve
(> |
170
425 85 ‘ 425
<
[le)
TR Sp—
“ b
I
26,5_| 117 26,5
o %
M fl i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Volume | Weight
Ix ly Wx Wy
M 20 ZE 27x170 6063 | 852cm* | 16,8cm’ | 100,2cm’ | 12,4cni® | 32,44cnf | 8,79 Kg/m

13 *EAAXIZTO MHKOZ KOIMNMHZ 1200 xIA.



Industrial Profiles // Radius & Angled Profiles /A\|uyminium
Profile

6 8 10
2 g .
&
o %
Code Product Name Material | Moment of Inertia_ |Moment of Resistance| /. | weignt
= i Wx Wy
M 63/R 20x20 Radius 6063 | 0,65 Cm4 0,65 cm’ 0,61cm?® 0,61cm?® 1,42 cm? | 0,38 Kg/m
6 8 10
C_3 4 R
R
N N N
- i'\
U o 2
15
30
o %
M fl i i
Code Product Name Material oment of Inertia__Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 22/R 30x30 Radius 6063 (2,15 cm’ 215cm’ | 1,30cm?® | 1,30cm® | 2,78 cm? |0,77 Kg/m

4 ::-&4

Code Product Name Material —Moment of Inertia_|Moment of Resistance) 1o | weight
Ix Iy Wi Wy
M 21/R 45x45 Radius 6063 | 85cm’ | 85cm* | 3,38cm® | 3,38cm?® | 4,46 cm? |1,24 Kg/m
6 8 10 p ~
(> | 40
[\ A
=] 7 ‘!
b 1.4 l’
8,2
o . J
Code Product Name Material —Moment of Inertia_|Moment of Resistance) 1o | weight
Ix ly Wx Wy
M 39/A 40x40 (45°) 6063 | 44cni | 44cnt | 1,90cm® | 1,90cm® | 3,43cm® |0,93 Kg/m

14 *EAAXIZTO MHKOZ KOIMNMHZ 1200 xIA.



Industrial Profiles / Closed Profiles
6 8 10 7V

-
(W | :
3
o
Code Product Name Material | Moment of Inertia_ [Moment of Resistance| ;.\, o | weight
Ix ly Wx Wy
M 22-K 30x30 Closed 6063 | 3,17cnf | 3,18cni | 2,05cm® | 2,05c | 3,37cmi | 0,91 Kg/m
6 8 10
L3 1
o
Code Product Name Material Moment of Inertia _|Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 04-K 40x40 Closed 6063 | 7,24cm’ | 7,27cmit | 3,52cm | 3,52cmt | 4,6cm® | 1,27 Kg/im
6 8 10
E I 45 4
32,5
3 & '
@% 10,2 L
M f 1 i M f Resi
Code Product Name Material oment of nertia oment of Resistance Volume | Weight
IX Iy WX W)’
M 05-K 45x45 Closed 6063 | 11,78cm’ | 11,78cm* | 5,24cm’® | 5.24cm’ | 5,90cm’ | 1,59 Kg/m
6 8 10
(> © -
40
‘°’ %{E B ?
-
M f | i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Volume | Weight
Ix ly Wx Wy
M 03-K 40x80 Closed 6063 | 50,9cm' | 12,9cm’ | 12,51cn | 6,23cm® | 7,7cm? | 2,04 Kg/m

15 *EAAXIZTO MHKOZ KOIMNMHZ 1200 xIA.



Industrial Profiles / Slide Profiles /A\luminium
Profile

6 8 10
[ i - |
2,88 2,88
_Lles T ;27
3
e ® &
g 1
——M |—— \
37
Code Product Name Material Moment of Inertia _|Moment of Resistance Volume | Weight
Ix ly Wx Wy
MG 37 SLIDE PROFILE 18 X 37 | 6063 | 1,37 cm* | 4,15¢cm* cm’ cm’ 3,37cm? | 0,89 Kg/m
6 8 10
L4 -
3,7 3 ]
3,65 ]
8,5 &
IRIE
%] © <
g || = \
M
28
Code Product Name Material Moment of Inertia _|Moment of Resistance Volume | Weight
Ix ly Wx Wy
MG 28 SLIDE PROFILE 18 X 28 | 6063 | 1,09 cm’ | 2,24 cm’ cm’ cm’ 3,37cm |0,76 Kg/m
Industrial Profiles / Guidance Profiles /A\[uminium
Profile
Bdpog | Alootdoelg (mm) Mrkog: 6000 xiIAiooTd

oD| Kwdikdg

kg/m A H H1| B [@d1] C1] C2 |[KDIN 6912
12| MDP 12 069 |40|22°01| 5 |29 45 50|75| M4x16

16| MDP 16 0,84 451 260,17 5 | 33|55 50 100| M 5x20
20| MDP20 1,23 52| 320,158 |37 |65| 50 100 M 6x25
25| MDP25 1,44 57 | 36'0,1 6 | 42 |6,5| 60 120, M 8x30
30| MDP30 2,00 69 142:0,15 7 | 51 |8,5| 75 |150| M 10x35

40| MDP40 2,60 73 /5070,15 8 | 55| 9 /100/200| M 10x40
* ZT0 TTOPATTAVW TTPO@IA dev TrepIAapBdavovTal ol doveg
*EAAXIZTO MHKOZXZ KOIMHZ 1200 xIA.

16



Industrial Profiles / Conveyor Profiles A\luminium
Profile
6 8 10 23

-
£ &
S1g
N
N
4 5
2 <1t o
~—y M
-
©
A A | -
M f Inertia |M f Resi
Code Product Name Material oment of Inertia oment of Resistance Volume | Weight
Ix ly Wx Wy
M 24/D 23x75 6063 | 3,11cm‘ | 26,03cm*® | 3,65cm® | 3,65cm® | 4,86cm’ |1,31 Kg/m
6 8 10
(- | 4
127
‘ 64 225
(L B
l | - >
¥
g
Code Product Name Material | Moment of Inertia_ [Moment of Resistance| ,, .o | \eight
Ix ly Wix Wy
M 29 23x127 6063 | 114,6cm’ | 55cm* | 17,47cm’ | 4,8cm | 7,4cm? | 2,05 Kgim
6 8 10
£3 (
17,5 17,5 42,3 27,7
|3 :
: vy i
[ B )
s
105
-
Code Product Name Material Moment of Inertia _|Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 29/A 25x105 6063 | 87,1cmi | 24cm® | 15,07cm | 1,49cm | 7.45cmt | 1,98 Kg/im
6 8 10
|\ | 4
32.95 18.5 62.7 18.5_,17.35

25

S v v I ?_WLJ

T
. ks
150
N\ J
Code Product Name Material Momentiofinertai Momsntofites Stance Volume | Weight
Ix ly Wx Wy
M 29/B 25x150 6063 | 87,1cmi | 24cm’ | 1146cnt | 1,9cm’ | 7.45cnf | 2,90 Kgim

17 *EAAXIZTO MHKOZ KOIMNMHZ 1200 xIA.



. . Conveyor/Panel .
Industrial Profiles // Floor cover Pronies A AJFTJF{!III.IF!

6 8 10
25 Ve

,Lﬁ
s PR
o] b
44.7_
Code Product Name Material Moment of Inertia_|Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 24 45x75 Conveyor 6063 | 2346cm' | 4580cm’ | 10,7cnm® | 9,21cm’ | 9.42cm’ | 2,56 Kg/m
6 8 10 22,5
£32 82
y J p
1\
1
oL
T}
v x
N
Code Product Name Material | Moment of Inertia_ |Moment of Resistance| ,, .o | \eight
Ix ly Wx Wy
PP 45 Panel Profile 22,5x45 6063 | 2,95cm’ | 8,15cm* | 0,42cm® | 0,82cm’® | 4,63cm’ | 1,25 Kg/m
6 8 10
-
40 )
20
1 (D’bfl
I D
A
6,4
<
N
M fl i i
Code Product Name Material oment of Inertia__Moment of Resistance Volume | Weight
I Iy Wx Wy
FC 40 Floor Cover Profile 10x40 | 6063 | 3,37cm® | 20cm® 61cm’ 69cm’ 04cm® | 0,55 Kg/m
*EAAXIZTO MHKOZXZ KOIMHZ 1200 xIA.

18



6 8 10

Corner Connectors(Plain) /A\luminium

Profile
| >
4 ) 4 )
-
o J o J
Code Profile External Product Name A | B C D H Material Weight
M 53 30x30 Straight Corner Connection 28 |22.5| 40 | @6 | 7 | Aluminium 21gr
M 53/C 40x40 Straight Corner Connection| 37 | 37 | 20 |@8.2| 6.5 | Aluminium 39 gr
M 53/A 45x45 Straight Corner Connection| 42 | 42 | 225 |@8.2| 7 | Aluminium 56 gr
M 53/B 80x80 Straight Corner Connection| 76 | 20 | 76 |@8.5| 8,3 | Aluminium 206 gr

6 8 10

J

£2 L2 ‘LJ‘
4 ) 4 ! N
\ I N
Code Prof External Product Name H w D Material Weight
M 54/K 20-25 Wide Corner Connection 20 | 17.5 | 5 | Aluminium | 155gr
M 55/G 30x30 Wide Corner Connection 28 | 28 | 6.5| Aluminium | 41.5gr
M 55/H 40x40 Wide Corner Connection 37 | 37.7 | 9 | Aluminium | 49 gr
M 55/H8 40x40 Wide Corner Connection S8 37 | 37.7 | 9 | Aluminium | 49gr
M 54/G 45x45 Wide Corner Connection 44 | 43 | 9 | Aluminium | 75gr
M 54/F 60x60 Wide Corner Connection 57 | 57 | 6.5| Aluminium | 98gr
M 54/ 80x80 Wide Corner Connection 78 | 77 | 10 | Aluminium | 226 gr
M 54/1 8 80x80 Wide Corner Connection S8 78 | 77 | 10 | Aluminium | 226 gr
M 52 90x90 Wide Corner Connection 84.7| 86.5 | 9 | Aluminium | 366 gr
M 96/K 20-25 Wide Corner Connection Cover - - - Plastic 2gr
M 97/G 30x30 Wide Corner Connection Cover - - - Plastic 4gr
M 97/A 40x40 Wide Corner Connection Cover - - - Plastic 8gr
M 96/G 45%45 Wide Corner Connection Cover - - - Plastic 10 gr
M 97/B 60x60 Wide Corner Connection Cover - - - Plastic 8gr
M 97/C 80x80 Wide Corner Connection Cover - - - Plastic 27 gr
M 96/D 90x90 Wide Corner Connection Cover - - - Plastic 24 gr

19



Corner Connectors

Fasteners Aumini
Y reniatons Al
6 8 10
(> Jfj |
4 ) )
- J - J
Code Prof External Product Name A D Material Weight
M 55 30x30 Corner Connection Narrow 8 | @6.5| Aluminium 54 gr
M 54 45x45 Corner Connection Narrow 10 | ©8.5 | Aluminium 59 gr
G 45 ggigg Corner Connection Narrow Cover | - - Plastic 7.5gr

(>

(>

-

6 8 10

Code Prof External Product Name A B D Malzeme | Weight
M 54/C 30x60 Corner Connection Long 27.2| 57 | 6.5 | Aluminium | 48gr
M 54/A 40x80 Corner Connection Long 37.5| 78 [10.5 | Aluminium | 114 gr
M 54/U 45x90 Corner Connection Long 42 | 842 | 9 | Aluminium | 142gr
M 54/P 30x60 Corner Connection Long Cover| - - - Plastic 10 gr
M 54/B 40x80 Corner Connection Long Cover| - - - Plastic 10gr

20



6 8 10

Radius Corner Connectors
and End Covers

Ay
P

[ 1| < [f] >
f ) 4 )
&a &
. i E-A..
N J o J
Code Prof External Prof External A C D | Material |Weight
M 56/R 20x20 Radius Corner Connection 18.5| 10 | 6.5 | Aluminium | 12 gr
M 55/R 30x30 Radius Corner Connection 28 | 15 | 8.5 | Aluminium | 42 gr
M 54/R 45x45 Radius Corner Connection 42 |22,5/10.5| Aluminium | 136 gr
M 96/C 20x20 Radius Corner Connection Cover | 20 | 3 - Plastic 2gr
M 96/A 30x30 Radius Corner Connection Cover | 30 3 - Plastic 4qr
M 96/B 45x45 Radius Corner Connection Cover | 45 | 3 - Plastic | 14 gr
M 87/A 20x20 Square Corner Connection Cover | 20 | 2 - Plastic 3gr
M 87/B 30x30 Square Corner Connection Cover | 30 | 3 - Plastic 8gr
M 87/C 45x45 Square Corner Connection Cover | 45 3 - Plastic 22 gr

minium

rofile

6 8 10
(|
4 N 4 N
- J - J
Code Prof External Prof External A B D Material | Weight
M1/T 40x40 A Triangle Corner Connection 36 | 36 | @8.5| Aluminium| 56 gr
M2/T 40x40 A Triangle Corner Connection Cover | 40 | 40 - Plastic 7gr
M 3/T 40x40 Square Corner Connection Cover | 40 | 40 - Plastic | 13.5¢r

21



Fasteners // Head Bolts A\luminium
Profile
6 8 10
L2 E3 4
/ ) 4 N
- J \_ J
Code | - | Product Name M A B @D Material Weight
M 44/C Slot 6 Head Bolt M6 | 3.5 | 20 | 105 8.8 Steel 45¢r
M 44/B Slot 8 Head Bolt M8 | 52 | 25 16 8.8 Steel 13 gr
M 44 Slot 10 Head Bolt M10 6 30 17.5 8.8 Steel 21gr
Fasteners // Inner Slot Connector
6 8 10
[ | >
~ N 4 N
=
- J \_ J
Code | | Product Name M |A | B | C |Material Weight
M 86/B Slot 8 | Inner Slot Connector | M8 | 15 |26.4 | 12.5 Steel 15gr
M 86/J Slot 10 | Inner Slot Connector |M10| 19 | 30 |17.5 Steel 27 gr

22



Umlnll.lm
rofile
6 8 10
~ ™ ~ N
N J N J
Code Prof External Product Name A D Material Weight
M 115 30x30 Corner Cube Connector Kits | 30 | @20,5 Aluminium | 38,5 gr
M 117 40x40 S8 Corner Cube Connector Kits | 40 | @26,6 Aluminium | 94,5gr
M 116 45x45 Corner Cube Connector Kits 45 | 9926,6 Aluminium | 151 gr

-

Angle Corner Connector A umlnlum

Code Prof External Product Name D Material |Weight
M 120 40x40 H (S8) | 45° Angle Corner Connector | @8.5 | Aluminium | 86 gr
M 121 45x45 45° Angle Corner Connector | @10 | Aluminium | 98 gr

23

Profile



Fasteners / Jagged Nuts A\uminium
Profile
6 8 10
L2 £3 ‘LJ‘
4 N 4 N
5 8
- o
.. il
& &
€
- J - J
Code (- | Product Name M| B | W|D | H|A Material Weight
M 47/A Slot 6 Jagged Nut M4 |57 |11.4/ 4112|566 8.8 Steel 12¢gr
M 47/S Slot 6 Jagged Nut M5 | 57 |11.4/ 41|12 | 56| 8.8 Steel 1or
M 42/B Slot 8 Jagged Nut M4 | 79| 16 | 63| 2 | 7.7| 8.8 Steel 3.6 gr
M 42/A Slot 8 Jagged Nut M5|79| 16 |63 | 2 |7.7| 8.8 Steel 33gr
M 42 Slot 8 Jagged Nut M6 | 7.9 | 16 | 6.3 7.7| 8.8 Steel 3gr
M 43/B Slot 10 Jagged Nut M4 | 10 | 19 | 87| 3 | 98| 8.8 Steel 759r
M 43/A Slot 10 Jagged Nut M5 | 10| 19 |87 | 3 | 9.8| 8.8 Steel 7qr
M 43 Slot 10 Jagged Nut M6 | 10 | 19 |87 | 3 |9.8| 8.8 Steel 6.5gr
M 41 Slot 10 Jagged Nut M8 | 10 | 19 |87 | 3 | 9.8 8.8 Steel 5.5gr
Fasteners / Hammer Screw Nuts ~ /A\luminium
Profile
6 8 10
[ | |
-
B M
- 20
-
Code | | Product Name D L |M | H|W|B Material  |Weight
M 40/B Slot 8 M6x20 Hammer Screw Nut - 185| 6 |68 |16,5| 7,7 8.8 Steel 7.5gr
M 40/G Slot8 | M6x25Hammer Screw Nut | - |235| 6 |68 |16,5| 7,7 | 8.8Steel 8gr
M 40/C Slot 10 | M8x25 Hammer Screw Nut - 17 | 8 | 9,7 |195| 83 8.8 Steel 14 gr
M 40/A Slot 10 | M8x30 Hammer Screw Nut - | 27| 8 |97 |195|83 | 88Steel 16 gr
M 40/D Slot 10 | M8x40 Hammer Screw Nut - | 37 | 8 |97/|195| 83| 8.8Steel 18.5gr
M 40/F Slot 10 | M8x60 Hammer Screw Nut - 57 | 8 |97 ]195| 83 8.8 Steel 25.5gr
M 40/E Slot 8 Round Head Bolt @213 | - - | 98| 88Steel 3gor
M 40/1 Slot 10 Round Head Bolt @21 | - 8 . |12,7| 8.8 Steel 9,5gr

24



Fasteners // Small Nuts A umlnlum
rofile
6 8 10
2 £33
4 I 4 I
i ‘ly/}
! £, >
- % - %
Code - | Product Name | M B | L H | Material | Weight
M102T Slot 6 Small Nuts M4 10 8.8 Steel 2.5¢r
M102 R Slot 6 Small Nuts M5 | g | 10 5 | 8.8 Steel 2gr
M102 2 Slot 6 Small Nuts M6 | 6 | 10 5 | 8.8 Steel 2gr
M102 P Slot 8 Small Nuts M4 | 7.8 | 16 6 | 8.8 Steel 9gr
M102 L Slot 8 Small Nuts M5 | 7.8 | 16 6 | 8.8 Steel 8.5¢r
M 102 F Slot 8 Small Nuts M6 | 78| 16 | 6 | 88Steel | 85gr
M 102 E Slot 8 Small Nuts M8 | 78| 16 | 6 | 88Steel | 7.50r
M102D Slot 10 Small Nuts M4 | 10.1| 20 | 10,5 8.8Steel | 21.5gr
M102 C Slot 10 Small Nuts M5 | 10.1| 20 | 10,5/ 8.8Steel | 20.5gr
M 102 B Slot 10 Small Nuts M6 | 10.1| 20 | 10,5/ 8.8 Steel | 19.5gr
M102 A Slot 10 Small Nuts M8 | 10.1| 20 | 10,5| 8.8 Steel | 18.5gr
Fasteners / Modular T Slot Nuts A um|n|um
rofile
£
4 ) 4 I
i 5
L -~ '
& J o J
Code [ | Product Name M B w L H Material Weight
M 105 Slot 6 Modular T Slot Nut M4 | 61| 11| 16 | 55 | 8.8 Steel 4gr
M 105/A | Slot6 Modular T SlotNut | M5 | 6.1 | 11 | 16 | 5.5 | 8.8 Steel 4gr
M 105/B | Slot6 | Modular TSlotNut | M6 | 6.1 | 11 | 16 | 5.5 | 8.8 Steel 3gr

25



Profile
6 8 10
[ Jif < J{f >
7\ f )
F
"
J NG J
Code | | Product Name M B w L D3 | D2 | D1 H Material Weight
M 107 A Slot 6 Long Nuts M5 6 10 | 100 | 20 30 10 5 8.8 Steel 29 gr
M 107 B | Slot8 Long Nuts M6 | 7,8 | 16 | 120 | 35 | 35 | 75 | 6 | 88Steel | 77.5gr
M 107 C | Slot10 Long Nuts M8 | 10 | 20 | 140 | 30 | 40 | 15 | 10,5 | 8.8Steel | 150gr
Fasteners // Spring Slot Nuts A\luminium
Profile
6 8 10
[l |
4 ) 4 )
&
NG J NG J
Code | | Product Name M A B (o} L Material Weight
M 45/K Slot 8 Spring Slot Nut M4 8 13 | 55 16 8.8 Steel 3.8gr
M 45/C Slot 8 Spring Slot Nut M5 8 13 55 16 8.8 Steel 4gr
M 45/B Slot 8 Spring Slot Nut M6 8 13 55 16 8.8 Steel 55gr
M 45/D Slot 8 Spring Slot Nut M8 8 13 55 16 8.8 Steel 45¢r
M 45/H Slot 10 Spring Slot Nut M4 | 10 15 | 75 | 20 8.8 Steel 12gr
M 45/F Slot 10 Spring Slot Nut M5 10 15 75 20 8.8 Steel 11.59r
M 45/A Slot 10 Spring Slot Nut M6 10 15 75 20 8.8 Steel 11.5gr
M 45 Slot 10 Spring Slot Nut M8 10 15 75 20 8.8 Steel 10.5gr

26



Auminium
Profile
/ R 4 R
o
; &
!
=
s gh— =
i ¢ 7
— B -
N J o J
Code | | Product Name A | B | C | D d | Material | Weight
M 85/G Slot 8 Angled Puller Type Connection 125 15 9 12 | 6.8 Steel 22.5gr
M 85/C Slot 10 Angled Puller Type Connection 26 | 17 |115| 15 | 85 Steel 53 gr
4 ) 4 R
- d o
' ! X
o < P
| Z &
-— B —
. J o J
Code | | Product Name A | D d | Material | Weight
M 85/F Slot 8 Puller Type Connection With Joint 125/ 12 | 6.8 Steel 32.5gr
M 85/B Slot 10 Puller Type Connection With Joint 26 | 15 | 85 Steel 84 gr
4 ) 4 R
D
! g -
O o
% B
- B -
- al —
_ J o J
Code | | Product Name A B |C|D d | Material | Weight
M 85/A Slot 8 Plain Puller Type Connection 29 | 21 |16 | 12 | 6.8 Steel 24.5gr
M 85 Slot 10 Plain Puller Type Connection 455| 31 | 20 | 15 | 85 Steel 54 gr
4 ) 4 R
- D -
©
= B -
—= A -
_ J o J
Code (| Product Name A | B | D | d | Material | Weight
M 85/D Slot 10 Head Puller Type Connection 68 | 48 | 15 | 8.8 Steel 80.5 gr

27



Umlnll.lm
rofile
6 8 10
L2 L3 K4
/ R / N
b
B
.
¥
< & &
N J N J
Code [ | Product Name M C | L | H | Material | Weight
M 106 Slot 6 Hidden Corner Connections M5 | 9 4.8 |13.5] 20 Alloys 6gr
M 106 A Slot 8 Hidden Corner Connections | M6 | 13 6.7 | 21| 30 Alloys 18.5gr
M106 B Slot 10 Hidden Corner Connections 17 | 10 | 84 | 27 | 40 Alloys 41 gr
Fasteners // Moving Joints A\uminium
Profile
LJ LJ
/ R / N
N J N J
Code Product Name A | B D H | Material Weight
M 36 30x30 Moving Joint 30 | 30 | @8.5 |22.5| Alloys 154 gr
M 37/A 40x40 Moving Joint 40 | 40 | @85 | 30 | Alloys 372¢9r
M 37 45x45 Moving Joint 45 | @10.5 | 30 | Alloys 342 gr
Fasteners / Square Nuts A\uminium
Profile
LJ u
4 N 4 N
\%b“ 79'50
M
. J o J
Code (- | Product Name M E Material Weight
M 46/F Slot 10 Square Nut M4 5 Steel 13.5¢r
M 46/H Slot 10 Square Nut M5 5 Steel 13 gr
M 46/E Slot 10 Square Nut M6 5 Steel 13 gr
M 46/] Slot 10 Square Nut M8 5 Steel 12 gr
M 46/D Slot 10 Square Nut M10 5 Steel 10.5 gr

28



(>

Fasteners // Levelling Feet Plates A\uminium
Profile
6 8 10
4 N
. .
- - .é I
'r. &
¢ Cof W &
' et
s
v
- J
Code AL Product Name M A L B H Material Weight
External

M 81/C 30x60 | Levelling FeetPlate | M6 | 30 | 60 | 30 | 16 | Aluminium 45 gr

M 81/B 40x80 | Levelling FeetPlate | M10 | 40 | 80 | 40 | 15 | Aluminium 76 gr

M 81/A 45x90 | Levelling FeetPlate | M12 | 45 | 90 | 45 | 15 | Aluminium | 100 gr

M 81/F 60x60 | Levelling FeetPlate |M12 | 30 | 60 | 60 | 15 | Aluminium 119 gr

M 81/G 80x80 | Levelling FeetPlate |M12 | 40 | 80 | 80 | 15 | Aluminium | 217.5gr

M 81 90x90 | Levelling FeetPlate | M16 | 45 | 90 | 90 | 15 | Aluminium 195 gr
A luminium
Profile

-

(|
4 N 4
9.8
- -
l -
bl
! ,
& J o
Code Product Name
PE 33 MpooTaTeuTikd eAaaTIKO TTPOQIA 40x40 - 45x45 gviaia emAvela
6 8 10
(|
4 s ~ -
] fi
] i
\l."h :l
" s i J "

Code

Product Name

PE 54

Mpo@iA TTpooTaTEUTIKOU EAAOTIKOU 45%45 Tpeig TTAEUPEG

29



Fasteners / 90° Connection Part A umlnlum
rofile
6 8 10 s ~
L2 L3 K4 %
s | Q ¥ i r'
5 —
Q O —— W r
P
4 L'
B —
- ° Y, - J
Code e Product Name A C M Material Weight
External
M 034/A 20x20 90° Connection Part 9.3 45 M4 Steel 17.5gr
M 032/A 25x25 90° Connection Part 123 | 45 M5 Steel 30 gr
M 034 30x30 90° Connection Part 14 45 M6 Steel 33.5¢r
M 032 40x40 90° Connection Part 16.5| 615 | M8 Steel 52.3 gr
M 035/T 45x45 90° Connection Part 195 | 55 | M8 Steel 71 gr
Fasteners / 120° Connection Part A um|n|um
rofile
6 8 10 s ~

(W

(>

(>

a2

NG J NG J
Code AT Product Name A (o] M Material Weight
External g
M 35/G 20x20 120° Connection Part 9.3 41 M4 Steel 17 gr
M 35/E 25x25 120° Connection Part 12.3| 40 M5 Steel 27 gr
M 35 30x30 120° Connection Part 14 | 54 M6 Steel 43 gr
M 35/X 40x40 120° Connection Part 16.5 | 54 M8 Steel 49 gr
M 33 45x45 120° Connection Part 19.5| 61 M8 Steel 92 gr
Fasteners // 135° Connection Part A umlnlum
rofile
6 8 10 s ~
£33 L4
NG J NG J
Code el Product Name A (] M Material Weight
External
M 34/D 20x20 135° Connection Part 93 | 385 | M4 Steel 16 gr
M 32/B 25x25 135° Connection Part 123 | 395 | M5 Steel 27 gr
M 35/A 30x30 135° Connection Part 14 51 M6 Steel 41gr
M 33/X 40x40 135° Connection Part 16.5 | 52 M6 Steel 48 gr
M 33/A 45x45 135° Connection Part 195 | 63 M8 Steel 88 gr

30



a2

Fasteners / 2 Way Connection Plates /A umInIUITl
rofile
6 8 10
N 4 N
J & J
Code Eth’;?lf\al Product Name A B | @D K Material Weight
M 051 20x25 2 Way Connection Plate | 75 75 5 3 Steel 96.5 gr
M 72/A 30x30 | 2 Way Connection Plate | 80 | 80 | 6.5 3 Steel 119 gr
M 56/L 40x40 | 2 Way Connection Plate | 110 | 110 | 6.5 3 Steel 218 gr
M 56 45x45 | 2 Way Connection Plate | 120 | 120 | 8.5 3 Steel 256 gr
M 76 45x90 | 2 Way Connection Plate | 180 | 180 | 8.5 4 Steel 850 gr
M 76/L 80x80 | 2 Way Connection Plate | 200 | 200 | 6.5 4 Steel 990 gr
M 66 90x90 | 2 Way Connection Plate 240 | 8.5 5 Steel 1.782 gr
Fasteners / 3 Way Connection Plates /A\luminium
Profile
~
L L] o ==
- L] -
- —
.
J . l [ ' )
Code Exﬁé?r‘;al Product Name A B | @D K Material Weight
M 051/A 20x25 | 3 Way ConnectionPlate | 75 | 86 | 5 3 Steel 109.5 gr
M 72/B 30x30 3 Way Connection Plate | 90 | 150 | 6.5 3 Steel 221.5gr
M 72/L 40x40 3 Way Connection Plate | 110 | 150 | 6.5 3 Steel 280 gr
M 56/A 45x45 3 Way Connection Plate | 120 | 160 | 8.5 3 Steel 322 gr
M 76/A 45x90 3 Way Connection Plate | 170 | 130 | 8.5 4 Steel 622 gr
M 66/L 80x80 3 Way Connection Plate | 160 | 220 | 6.5 4 Steel 900 gr
M 66/A 90x90 | 3 Way Connection Plate 250 | 85 | 5 Steel 1.581 gr
ENCHES // 4 Way Connection Plates /A\luminium
Profile
I )
e L
[ g
‘ y
4 L]
v @
L)
J . I I J
Code Eth’égr‘:al Product Name A | B | @D K Material Weight
M 051/B 20x25 | 4 Way Connection Plate | 130 | 130 | 5 3 Steel 248 gr
M 72/C 30x30 4 Way Connection Plate | 150 | 150 | 6.5 3 Steel 334 gr
M 56/B 45x45 | 4 Way Connection Plate | 180 | 180 | 8.5 4 Steel 689 gr
M 66/J 80x80 | 4 Way Connection Plate | 200 | 200 | 6.5 4 Steel 1180 gr
M 66/B 90x90 | 4 Way Connection Plate | 311 | 311 | 8.5 5 Steel 2.739 gr

31



Plain Additional A\
Connection Plate uminium
10
(> |
4 \ ) 4 N
Rp ©
{“@ ©
— b /rs
K.,Z‘
- J - J
Code Product Name A B Cc oD L Material | Weight
M 148 Plain Additional Connection Plate | 85 45 45 85 | 175 Steel 564 gr
Profile
4 B ) 4 I
D
AHk
| |~ |
\ ¢
]
- ° J - J
Code Product Name A B Cc D Material Weight
M 57 Foot Fixing Bracket 153 45 92 9 Steel 488.5 gr
rofile

Prof

Code External Product Name A | B D | H| K | Material | Weight
M 152 45x45 Based Foot Connection Elements | 135| 89 | 13 | 80| 4 Steel 862 gr
M 153 45x90 | Based Foot Connection Elements | 180 | 89 | 13 | 80| 4 Steel 972 gr
M 154 40x40 | Based Foot Connection Elements | 130 | 89 | 13 | 66| 4 Steel 740 gr
M 155 40x80 | Based Foot Connection Elements | 170 | 89 | 13 | 66| 4 Steel 860 gr

32



Cabin Equipment / Shelf Adjusting Plate A\uminium
Profile
6 8 10
[ JI] >
/ R / N
N J N J
Code | - | Product Name A B d oD Material Weight
M 98 Slot 8 Shelf Adjusting Plate | 120 | 30 | 6.5 6.5 Steel 247.5 gr
M 98/K Slot 10 Shelf Adjusting Plate 120 | 38 | 85 8.5 Steel 2425 gr

Cabin Equipment / Magnet Connection Set A\,
P

6 8 10
[ Jif < J{f >
4 Magnet Connection Set Magnet Catch Part ) ( )
=== = |
oo ol
=
Pos o 2
& =
1 | s
e -
. i3 J L J
Code > | Product Name A | B | L | @ad Material | Weight
M 069/D | Slot6 | Magnet Connection Set | 45 | 20 | 40 | 5.5 S‘f;g';'ﬁ:te 88.5 gr
M 69/B | Siots Magnet Connection Set 45 | 35 | 55 | 6.5 Sfﬁ;gﬁ,’te 104 gr
M 069 | Slot10 | Magnet Connection Set | 45 | 47 | 67 | 6.5 S‘fpﬁ;‘;'fge 113 gr

33



Cabin Equipment // Hanger /A |_||'n|n||_||'n
rofile
6 8 10
(> ] >
4 o ) 4 N
- J - J
Code Product Name Material Weight
M72 Hanger 20.25 Plastic+ Steel 18 gr
M73 Hanger 30.45 Plastic+ Steel 36 gr
Cabin Equipment / Slide Rail A umlnlum
rofile
6 8 10
[ Jl] >
4 ) 4 N
.
y
- J - J
Code | | Product Name A|C | H L M Material Weight
M 75/B Slot 8 Slide Rail 8 | 2 [187] 53 | M4 Derlin 8.5gr
M 75/A Slot 10 Slide Rail 10 | 2.5 {20.3| 60 M4 Derlin 13 gr
Cabin Equipment / Accordion Pin A\ |_||'n|r1!||_|,'n
ro | e
6 8 10
[ Jl] >
4 ) 4 N
]
I _L . ‘ ’
i w0
'
.
- J - J
Code | | Product Name A|C | H L M Material Weight
M 75/D Slot 8 Accordion Slide Pin 8 (16| 3 | 24 M8 Steel+Derlin 7gr
M 75/C | Slot10 Accordion Slide Pin 10 | 18 | 3 | 27 | M10 | Steel+Derlin 12.5gr

34



Cabin Equipment // Handle A uminium
rofile
6 8 10
£E2 E4
N 4 )
| HANDLE
L. ‘:"-\.
| —
-.l.- -I ._;l-.-"
J - J
Code Product Name H L L1 B D Material Weight
M 67 Plastic Handle 40.5|131.5| 915 25 8.4 Plastic 445 gr
M 68 Plastic Handle Thin 405 | 130 | 104 | 12 @5 Plastic 25 gr
M 69 Plastic Slide-in Handle 6 | 134 | 100 | 27 | @85 Plastic 110 gr
Cabin Equipment / Handles Aluminium /A um|n|um
rofile
6 8 10
(W i S | N |
4 ) 4 )
OVAL TUBE
e If" Vg
W L
- J - J
Code Product Name H L L1 B D Material Weight
M 67 AO Aluminium Tube Handle Oval 47 | 233 - 38 - | Aluminium & PVC 88 gr
M 68 AO Aluminium Tube Handle Oval 43 | 230 - 34 - | Aluminium & PVC 70 gr
M 69 AT Aluminium Tube Handle 56 | 232 - 30 - | Aluminium & PVC 81gr
M78 Aluminium Tube Handle 68 | 236 - 36 - |Auminum&PVC| 103 gr
Cabin Equipment // Ball Catch A\ uminium
Profile
6 8 10 4 ) 4 )
[ ) < | N |
- J - J
Prof q .
Code Product Name External L L1 B D Material Weight
M 69/C Ball Catch 20-25-30 | 53 | 40 | 55 | @5 Plastic 25gr
M 69/F Ball Catch 35-40-45| 74 | 57 | 77 | @55 Plastic 40 gr

35



Cabin Equipment // Adjustable Handle A umlnlum
rofile
6 8 10 s ~ s ~
L2 £33 L4 :
- i % - %
Code Product Name M H h1 L Material Weight
M 73/A Adjustable Handle M6 | 72 30 78 Plastic M gr
M 73/B Adjustable Handle M8 92 50 78 Plastic 52 gr
M 73/C Adjustable Handle M10 | 102 60 78 Plastic 65 gr
Connection Accessories / Slot Seals A\uminium
Profile
6 8 4 I 4 N

(W |

(> |

(>

g
/a5

- J - J
Code [ | Product Name Colour A B Material
M 79 Slot 6 Slot Seal (] 73 | 3.8 Plastic
M 49 Slot 8 Slot Seal ( 89 | 43 Plastic
M 59 Slot 10 Slot Seal [ ) 1.7 | 8.1 Plastic
KATOMMIN .
MAPAFTEAIAS Slot 6 Slot Seal Colorful [ 107 73| 38 Plastic
KATOIMMIN .
NAPAITEANIAS | Slot8 Slot Seal Colorful Q@0® |89 | 43 Plastic
KATOIMIN .
NAPAFFEAIAS | Slot 10 Slot Seal Colorful Q0® |11.7| 841 Plastic
Connection Accessories / Glass Seals A\ luminium
Profile
10 N ~ N
¥ J] N | | R
DN
\ .
- J - J
Code [ | Product Name Colour A B Material
M70 Slot 6 Glass Seal o 7 7 Plastic
M72 Slot 8 Glass Seal o 85 | 11.3 Plastic
M 71 Slot 10 Glass Seal [ ] 11 | 121 Plastic

36



Connection Accessories // [MépoAa

/A\luminium
Profile

ITopoAa papyapita ano PF Duroplast pe OnAvko naco

AvBekTIKG o€ éAana, Alrr, KOO Kol SIGAVTEG.

Koéwkog Mapetpog Iaco Ko&wkog Avapetpog Iaco
01PB2A PB2 M4 20mm M4 01PB4F PB4 M12 40mm M12
01PB2B PB2 M5 20mm M5 01PB5D PB5 M8 50mm M8
01PB2C PB2 M6 20mm M6 01PB5E PB5 M10 50mm  M10
01PB3B PB3 M5 30mm M5 01PB5F PB5 M12 50mm M12
01PB3C PB3 M6 30mm M6 01PB6E PB6 M10 60mm  MI10
01PB3D PB3 M8 30mm M8 01PB6F PB6 M12 60mm M12
01PB4C PB4 M6 40mm M5 01PB7E PB7 M10 70mm  M10
01PB4D PB4 M8 40mm M8 01PB7F PB7 M12 70mm M12
01PB4E PB4 M10 40mm  M10 01PB7NPB7 M14 70mm M14

+100°C
-20°C

THENAR 7

ITopoAa papyapita ano PF Duroplast pe apoeviko naco
AvBekTiKG o€ Ao, Almn, KaOopo Kot SIADTEG.

Ko dikog Toog  ITdoo
01PF2B20 PF2 M5X20 20mm M5X20mm
01PF2B30 PF2 M5X30 30mm MS5X30mm
01PF3C20 PF3 M6X20 30mm M6X20mm
01PF3C30 PF3 M6X30 30mm M6X30mm
01PF3P25 PF3 M8X25 30mm M8X25mm
01PF4C25 PF4 M6X25 40mm M6X25mm
01PF4C40 PF4 M6X40 40mm M6X40mm
01PF4D20 PF4 M8X20 40mm M8X20mm
01PF4D25 PF4 M8X25 40mm M8X25mm
01PF4D40 PF4 M8X40 40mm M8X40mm
01PF4D50 PF4 M8X50 40mm M8X50mm
01PF4E30 PF4 M10X30 40mm M10X30mm
01PF5E40 PF5 M10X40 40mm M10X40mm
01PF6F45 PF6 M12X45 45mm M12X45mm
01PF5D20 PF4 M8X20 50mm M8X20mm
01PF5D35 PF5 M8X35 50mm M8X35mm

Kodikog Toog  ITdoo
01PF5E25 PF5 M10X25 50mm M10X25mm
01PF5E30 PF5 M10X30 50mm M10X30mm
01PF6ES50 PF6 M10X50 50mm M10X40mm
01PF6F35 PF6 M12X35 50mm M12X35mm
01PF6D25 PF6 M8X25 60mm M8X25mm
01PF6D40 PF6 M8X40 60mm M8X40mm
01PF6E30 PF6 M10X30 60mm M10X30mm
01PF6E70 PF6 M10X70 60mm M10X70mm

+100°C
-20°C

THENAR D

ITopoAa papyapita ano PF Duroplast pe apoeviko Tdco INOX

AvBekTIKG o€ éAana, Alrr, KOO Kol SIGAVTEG.

Ko dikog Tomog Ildoo
01PF2B20X PF2 M5X20 20mm M5X20mm
01PF2B30X PF2 M5X30 20mm M5X30mm
01PF2B40X PF2 M5X40 20mm M5X40mm
01PF2C20X PF2 M6X20 20mm M6X20mm
01PF2C30X PF2 M6X30 20mm M6X30mm
01PF2C40X PF2 M6X40 20mm M6X40mm
01PF3D15X PF3 M8X15 30mm M8X15mm
01PF3D25X PF3 M8X25 30mm M8X25mm
01PF4C25X PF4 M6X25 40mm M6X25mm
01PF4D40X PF4 M8X40 40mm M8X40mm

+100°C
-20°C

THENAR [}

mdariia’ comsRenT

37




Cabin Equipments / Hinges A\ uminium
Profile
6 8 10
N i < ||
e N e A
i
. > =
\ Y, \ Y,
Prof . .
Code External Product Name E H1 H2 L1 L2 L3 L4 D1 Material | Weight
M 65/K 20x20 | Hinge (Thin Series) | 5 | 10.25 |10.25|18.35(18.35| 35 | 19 6 | PA6Black | 8.5gr
M 65/F 20x25 | Hinge (Thin Series) | 5 | 10.25 |12.75[18.35|23.35| 35 | 19 6 | Pa6Black | 10gr
M 65/G 25x25 | Hinge (Thin Series) | 5 | 12.75 |12.75|23.35(23.35| 35 | 19 6 | Pa6Black | 11gr
M 65/H 20x30 | Hinge (Thin Series) | 5 | 10.25 |15.25|18.35(23.35| 35 | 19 6 | Pa6Black | 9.5gr
M 65/l 25x30 | Hinge (Thin Series) | 5 | 12.75 |15.25|23.35|23.35| 35 | 19 6 | Pa6Black | 10gr
M 65/A 30x30 Hinge 8 15 15 | 25 | 25 | 50 | 30 | 6.5 | Pa6Black | 29.5gr
M 65/B 35x35 Hinge 8 | 175 |175| 32 | 32 | 50 | 30 | 6.5 | PaéBlack | 34gr
M 65/D 45x30 Hinge 8 |2275| 15 | 32 | 25 | 50 | 30 | 6.5 | PaéBlack | 31gr
M 65/J 35x45 Hinge 8 | 2275|175 | 32 32 50 30 | 6.5 | Pa6Black | 33gr
M 65/C 45x45 Hinge 8 | 22.75|22.75| 32 32 50 30 | 6.5 | Pa6Black | 34gr
Cabin Equipments // Locked & Covered Hinges /A\luminium
Profile
6 8 10
[ i < | |
e N e ™
- ‘ '
\ Y, N J
Code Ex'::r’; n Product Name H | L1 |L2]| L3 | L4 | D1 Material | Weight
M 92/A 25x25 Hinges With Lock 72 | 48 | 28 | 52 | 30 | 6,6 | PaéBlack | 46gr
M 92/B 30x30 Hinges With Lock 72 | 48 | 28 | 59 | 35 | 6,9 | PaéBlack | 48gr
M 92/C 45x45 Hinges With Lock 72 | 48 | 28 | 87 50 | 6,6 | Pa6Black | 60,5gr
M 92/D 45x45 Hinge Cover 62,2 | 56 | 36 | 73 | 455 | 6,6 | Pa6Black | 41gr

38



Cabin Equipments / Plexiglass A\uminium
Profile
- N @ _

B C
<
NG J
Code Product Name A B C Material Weight
MIMOPOYN NA KOINOYN
Plexiglass 3 mm 2050| 3050 | 3 | Plexiglass | 3,57 kg/m’ STIZ ENIOYMHTEZ
Plexiglass 4 mm 2050| 3050 | 4 | Plexiglass | 4,76 kg/m? AIAZTAZEIZ
Plexiglass 5 mm 2050| 3050 | 5 Plexiglass 5,95 kg/m® AIATIOONTAI ZE
Plexiglass 6 mm 2050 | 3050 | 6 | Plexiglass | 7,14 kg/m AIA®OPA XPQMATA
Plexiglass 8 mm 2050 | 3050 | 8 Plexiglass 9,52 kg/m’ TIMH KATOIIN
, ) 5 2YNNENOHZHZXZ

Plexiglass 10 mm 2050 | 3050 | 10 Plexiglass 11,90 kg/m

Cabin Equipments / MoAukapBovikd A\uminium
Profile

B c ‘
<
.-
. RALIA
NG J ;
Code Product Name A B C Material Weight
MIMOPOYN NA KOINOYN
MoAukapBovikd 4 mm 2100 | 6000 | 4 | MolukapBoviko | 0,80 kg/m’ ITIZ ENIOYMHTEZ
MoAukapBoviké 6 mm 2100 | 6000 | 6 | MohukapBoviké | 1,30 kg/m’ AIAZTAZEIZ
MoAukapBovikd 8 mm 2100 | 6000 | 8 | MohukapBoviké | 1,50 kg/m’ AIATIOONTAI ZE
MoAukapBovikd 10 mm 2100 | 6000 | 10 | MoAukapBoviko | 1,70 kg/m® AIRSORAXFQNATA
MoAukapBovikd 16 mm 2100 | 6000 | 16 | MoAukapBoviké | 2,55 kg/m? TIMH KATOMIN
- - S 2YNNENOHZHZ
MoAukapBovikd 20 mm 2100 | 6000 | 20 | MoAukapBoviké | 3,10 kg/m
: ! 2UMTTaYEG
Cabin Equipments / , A\ uminium
— HO)\UKapBOVIKG Profile
-
B ‘C‘
Code Product Name A B C Material Weight
ZupTr. MoAukapBoviké 3 mm | 2050 3?88 3 | MohukapBoviko | 3,600 kg/m® | |
>upTr. MNMoAukapBoviké 4 mm | 2050 2?88 4 | MohukapPoviko | 4,800 kg/m®
N
>upTr. MNMoAukapBovikdé 5 mm | 2050 g?gg 5 | MoAukappoviké | 6,00 kg/m’
< 3050 4 2 MMOPOYN NA KOMNOYN
ZupTr. MoAukapBoviké 6 mm | 2050 | 51gg | 6 | MoAukapBoviko | 7,200 kg/m STIZ ENIOYMHTEE
Zupr. MoAukapBoviké 8 mm | 2050 | 6100 | 8 | MohukapBoviké | 9,600 kg/m’ AIAZTAZEIZ
Tupr. MohukapBoviké 10 mm | 2050 | 6100 | 10 | MoiukapBoviké | 12,00 kg/m? RISIIOCNIATLE
AIA®OPA XPQMATA

TIMH KATOMIN
39 SYNNENOHZHE




Cabin Equipments / Cable Holders A umlnlum
rofile
6 8 10
(> |
4 N\ 4 N
& J N J
Code Product Name A B C D E Material | Weight
M 83 Cable Holder With Cap 34 |16 | 20 | 285 | 10 Plastic 6.5gr
M 82 Cable Holder Without Cap 22 110 | 11 - - Plastic 59gr
Cabin Equipments / Plastic Plexi Holder A umlnlum
rofile
6 8 10
(> |
4 ) 4 I
i 8
- J - %
Code Product Name A C D Material Weight
M 109 Plexi Holder With Nut 25 19 25 55 Plastic 11 gr
M 109/A Plexi Holder With Uniblock 20,8 | 29 | 22,2 - Plastic 10 gr
Cabin Equipments / Plexi Holder Metal A\uminium
Profile
6 8 10
[ ] < J{f > |
4 ) 4 I
ot D
|
o >
! i
-__B__-
- J - %
Code Product Name A B (o3 D Material Weight
M 120 Plexi Holder Metal Single 20 |32,5| 25 |@4,2| 12,5 | Aluminium 25 gr
M 120/A Metal Plexi Holder Dual 20 8 65 | 65 Aluminium 82 gr

40



Connection Elements /

Security Fence
Connection Systems

Slot Sliding Wheel

A\luminium
Profile

4 ) 4
- J o J
Code [ | Product Name A|B|C |D|E Material |Weight
e Black 47
M 88/B Slot 8 Slot Sliding Wheel 33.5| 47 |19.3|58 |7.8 Polyethylene gr
. Black
M 88/A Slot 10 Slot Sliding Wheel 68.5| 48 | 29 | 9.5 |95 |p cihiine| 909
M 88/X Slot 10 |  Sliding Wheel set 40x40 | 40 | 40 | 40 Aluminium | 116 gr
M 88/Y Slot 10| Sliding Wheel set 45x45 | 45 | 45 | 45 Aluminium |170 gr
M 88/J Slot 10 Sliding Wheel set 30x30 30 | 30 | 30 Aluminium | 80 gr
Safety Lock
4 ) 4 )
]
1
- ~,
E -
- J o J
Code Product Name A|B|C|D Material Weight
M 92 Safety Lock 80 | 40 | 35| 31| Aluminium | 243 gr
Safety Fence Connector
N 4
& "
# S— L3
L i
L]
!
J -
Code Product Name A | B Cc D|dl| M Material
M77 Safety fence Connection Part | 5 | 12 24 | 5 | M5 | Aluminium |13.5gr
Parallel Profile Connection Kit
ot N N
.'..I
o {
el
{ ] l e
O\ AN
Code Product Name A | B| C|@D| E F | H | Material |Weight
M 135 Parallel Profile Connection Kit 30 |30 | 27 |85|15 | 85|57 Steel |38.5gr

41




Connection Accessories / Profile Caps

A\uminium
Profile

N N [
) WO
RN . VRN
N N [
A I e
'|
o~
=
ARN VRN
Code Product Name A B C Color Material Weight
M 58/P 20x20 Profile Cover 20 20 2 (] Plastic 1gr
M 58/B 20x40 Profile Cover 20 40 3 (] Plastic 29r
M 58/F 20x80 Profile Cover 20 80 3 o Plastic 4gr
M 58/R 25x25 Profile Cover 25 | 25 3 [ ] Plastic 1.5gr
M 58/A 30x30 Profile Cover 30 30 3 o Plastic 3.5gr
M 58/H 35x35 Profile Cover 35 35 3.3 (] Plastic 4.5gr
M 58/HV 35x35 Profile Cover (S10) 35 35 3.3 ) Plastic 49r
M 170 30x60 Profile Cover 30 | 60 3 ([ ] Plastic 7gr
M 171 30x90 Profile Cover 30 90 3.3 () Plastic 7.59r
M PK 40 40x40 Profile Cover (S10) 40 | 40 | 3.3 [ ] Plastic 55gr
M 172 40x40 Profile Cover (S8) 40 | 40 | 3.3 ° Plastic 55gr
M 173 40x80 Profile Cover (S8) 40 | 80 | 33 ) Plastic 8.88 gr
M PK 48 40x80 Profile Cover (S10) 40 80 3.3 (] Plastic 9.5¢r
M 58/C 45x45 Profile Cover 45 45 3.6 [ ) Plastic 8gr
M 58/J 45x60 Profile Cover 45 60 3.6 ) Plastic 9.5gr
M 58/D 45x90 Profile Cover 45 90 3.6 [ ] Plastic 15.5 gr
M 174 45x135 Profile Cover 45 | 135 | 3.6 [ Plastic 19¢r
M 175 50x50 Profile Cover 50 | 50 | 3.6 ® Plastic 8gr
M 176 50x100 Profile Cover 50 | 100 | 3.6 [ ) Plastic 17 gr
M 58/G 60x60 Profile Cover 60 | 60 | 3.6 o Plastic 11.5gr
M177 60x60 Profile Cover (S8) 60 60 3.6 o Plastic 12.5 gr
M 177/G 60x90 Profile Cover 9 | 60 | 36 ° Plastic 18.33 gr
M PK 80/8 80x80 Profile Cover (S8) 80 80 3.6 [ ) Plastic 21.69r
M PK 80 80x80 Profile Cover 80 80 3.6 [ Plastic 19.5 gr
M 58/E 90x90 Profile Cover 90 90 3.6 (] Plastic 31gr
M178 20x20 Radius Profile Cover 20 20 o Plastic 1gr
M 58/L 30x30 Radius Profile Cover 30 30 o Plastic 25¢r
M 58/M 45x45 Radius Profile Cover 45 | 45 ([ ] Plastic 7ar
M179 23x127 Profile Cover 23 | 126.8| 4.2 [ Plastic 18.5 gr
M 179/X Hexagon Stand Profile 60 52 3 o Plastic 5.67 gr

42




Connection Accessories / Plastic Levelling Feet
s N

-

Aumlnlum
rofile
I

- J - J
Code Product N D M | H | h | Material | Weight | .29
oduct Name g Capacity
M 62/D M6 Plastic Levelling Foot @41| M6 | 80 | 50 Plastic 41gr 39 kg
M 62 M8 Plastic Levelling Foot 41 M8 | 80 | 50 Plastic 47 gr 49.5 kg
M 61 M10 Plastic Levelling Foot @60 | M10 | 100 | 60 Plastic 116 gr 114 kg
M 61/C M12 Plastic Levelling Foot @60 | M12 | 100 | 60 Plastic 136 gr 152kg
M 61/B M16 Plastic Levelling Foot | @ 110 160 | 110 | Plastic 314gr | 325.5kg
Connection Accessories / Metal Levelling Feet A\ uminium
Profile
-
"
i
= o
B
- t
- J
Code Product Name D | M| H | h | Material |Weight|.-°29
9 Capacity
M 62/C MotalL Bvaling oot @60 | M10| 85 | 50 | Chrome-steel | 188.gr | 190 kg
M 62/B Motal Loveling Foct @80 | M12 | 150 | 100 | Chrome-steel | 479gr | 489 kg
M 62/A Matal Lovoine Fact @120 M16 | 150 | 100 | Chrome-steel | 1.081 gr| 1.150 kg
Connection Accessories // Podeg A\luminium
Profile
4 I 4 I
i 3
x 1 ﬁ
E
- J - J
Code Product N E |@D|@d| H Load Material | Weight
roduc ame Capacity aterial eig
M 99/A P&da tpeA @ 50 24 | 50 | 10 | 70 50 kg Polyamid | 204 gr
M 99/B | P&da tpeAry @ 50 pe gpévo | 24 | 50 | 10 | 70 50 kg Polyamid | 277 gr
M 99/C Po6da TpeAn ® 75 24 | 75 | 10 |100 70 kg Polyamid | 298 gr
M 99/D Poda tpehy @ 75 pe ppévo | 24 | 75 | 10 | 100 70 kg Polyamid | 538 gr
M 99/E P65a TpeAf ® 100 24 | 100 | 12 [130 80 kg Polyamid | 719 gr
M 99/F |Poda 1peAry @ 100 pe ppévo| 24 | 100 | 12 | 130 80 kg Polyamid | 820 gr

KATOIMMIN ZHTHZHZ YMAPXOYN KAI ZE AAAEZ AIAMETPOYZ

4

3



Cabin Equipment // In slot A umlnlum
8 10

rofile
L2k A e A
- J - J
Code | > | Product Name Color A B Material Weight
Us Slot 8 In Slot U 8 seal { J 9 | 82 PVC 44,6 gr
u10 Slot 10 In Slot U 10 seal [ 14,00/10,20(  PVC 50,6 gr
4 4
o
Cabin Equipment // Absorbers A\ uminium
Profile
4 ) 4 I
1 o I
- J - J
Code Product Name A | B Min.HM v Material Weight
M 84 Absorbers (Strok 150mm) F300N | 150 | 195 | 233 - 383 Steel 205 gr
M 84/B Absorbers (Strok 105mm) F150N | 105 | 145 | 188 - 293 Steel 159 gr
M 84/C Absorbers (Strok 85mm) F85N 130 | 168 - 253 Steel 148 gr
Cabin Equipment / Absorber Connection Part /A\|uminium
Profile
A\
<
L J . J
Code Product Name Material Weight
M 84/D - M84/F Absorber Connection Part Steel 48 gr

44



Cabin Equi t / AANevOBIBEC InoX A\umini
S —

Maxos— 3 4 5 6 8 10
I Mnkog!
3-6

10
12
16
20
25
30
35
40
45
50
60
70
80
90
100
110
120
130
140
150 87,10€ 136,50
*1a 100 tepdyla

AlevoPrdeg o€ petpiko DIN912 INOX A2

14

16

®

AlevoPrdeg ppelateg DIN7991 1NOX A2

S7

[9)]
(=}
(==}

Ilayoc—» 4 10 12
I Mnkog!l

10

12

16

20

25

30

35

40

45

50

60

70

80

*1or 100 Tepaya

45

A)evoPrdeg opmié DIN7380
INOX A2

®

Mégog—~ 4 5 6 8 10
I Mnkog!
10
12
16
20
25
30
35
40
50
60

*1a 100 tepayla

. S/

Ol TIMEZ MIMOPOYN NA AAAAZOYN XQPIZ NPOEIAOMNOIHZH




Cabin Equipment //

Magipdadia - PodéAeg
& Nrideg Inox

Ay,

minium

rofile

,

Podéleg DIN125 (INOX A2

PodéAeg oapdiég DIN9021 [INOX A2

Tomog Tomog
3X7 18X34 Tomog Tomog
4X9 20X37 3X9 16X50
5X10 22X39 4X12 18X56
6X13 24X44 5X15 20X60
8X17 27X50 6X18 22X66
10X21 30X56 8X25 24X72
12X24 33X60 10X30 27X81
14X28 36X66 12X40 *1a 100 tepayla
16X30 *ta 100 Tepéa 14X45
( Ntileg DIN976 1 pétpov INOX A2 ( T'kpoPep DIN127B (INOX A2
Téyog Téyog Om Omn
3 16 3 16
4 18 4 18
5 20 5 20
6 22 6 22
8 24 8 24
10 27 10 27
12 30 12 30
14 33 14 *1a 100 Tepdyia

Avo&eidota nepikoyAta DIN934 INOX A2

ITepwoyha ac@aieiag DIN985 INOX A2

/J \

IIdyog Ilayog
2 16
2,5 18
3 20 Idyog ITayog
4 22 3 14
5 24 4 16
6 27 5 18
8 30 6 20
10 33 8 22
12 36 10 24
14 *ta 100 tepayia ) 12 *ta 100 tepayia
( ITepwoyha topra DIN1587 INOX A2 | ITepwoyMa ietarovdeg DIN315AF INOX A2
Iaoo
3
4
5
Iaco Iaco 6
3 12 8
4 14 10
5 16 12
6 18 14
8 20 16
10 *1o 100 tepaya *1o 100 tepdya

OI TIMEZ MNOPOYN NA AAAAZOYN XQPIZ MPOEIAOMNOIHZH

46




Fwvicg | Corners I'Isplvpclepir;]( ||_bl(3_?)scription VvoéiEht I'Isplypcxszr')]( ||_bl(3_?)scription w%ight
15x15x1,9 0,132 10x10x4,0 0,100
20x20x1,5 0,160 30x20x1,50 0,200
25x25x1,5 0,200 50x20x2,0 0,370
30x30x1,5 0,240 60x60x3,0 0,950
40x40x1,5 0,318 75x50x5,0 1,640
I . 40x20x1,5 0,240 60x20x1,5 0,320
\%L%\ﬁ? 50x30x3,0 0,620 60x40x4,0 1,040
50x50x2,0 0,530 80x40x4,0 1,250
60x20x1,5 0,320 80x20x1,5 0,400
100x20x2,0 0,640 100x100x8,0 4,150
100x50x5,0 1,960 120x20x2,0 0,750
Adpeg | Profiles HEDIYpG(P(I;]_ )|(TD)escription v\%ilzht I'Isplypa(p(ri]_ J(%escription vveéight
20x3 0,160 80x50 1,080
20x5 0,270 80x10 2,160
25x3 0,200 80x15 3,240
25x5 0,340 100x8 2,160
30x3 0,240 100x10 2,700
40x5 0,540 100x20 5,400
30x5 0,410 100x30 8,100
30x10 0,810 120x10 3,240
40x3 0,320 120x15 4,860
T 40x5 0,540 120x20 6,480
_% 40x10 1,080 150x10 4,050
- 4>‘ 40x15 1,620 150x15 6,080
40x20 2,160 150x20 8,100
50x3 0,410 200x10 5,400
50x5 0,620 200x15 8,100
50x8 1,080 200x20 10,800
50x10 1,350 20x10 0,540
60x3 0,490 40x8 0,860
60x5 0,810 60x8 1,300
60x10 1,620 95x11 2,822
60x15 2,430 95x11 2,822
Kapé | Square I'Isplypa((r’)]( |lbli)_re)scription v\%izht I'Ieplypcx((lpirl lL)I(D_I?)scription V\zigl.qt
12x12x1,0 0,120 40x40x1,5 0,624
——
T 15x15x1,5 | 0220 | 50x50x15 | 0,786
H N 20x20x1,5 0,300 100x50x2,0 1,580
25x25x1,5 0,380 60x20x1,5 0,620
] 30x30x1,3 0,403 60x40x2,0 1,041
40x20x1,5 0,460 80x20x1,3 0,684

47

/A\luminium
Profile

ZNTACTE pag
TIMEG

ZnNTNOoTE Pag
TIMEG

ZnNTNOoTE Pag
TIMEG



Aluminium Profiles AT

// Profiles AT /A uminium
Profile

Mepiypagr) | Description|  ©.B.

. 0l 1 | Descripti B
Kupa | Square eplypaor) | Description ©

(LxHxT) Weight (LxHXT) Weight
i 80x40x1,3 0,824 100x40x1,6 1,180 Zr]Tr']O'Ta MOG
N 1. 80x80x1,8 1,520 100x50x2,0 1,580 T|pég
100x20x1,5 0,950 100x100x2,0 2,120
] 120x20x1,6 1,180 100x100x4,0 4,150

Mepiypagr) | Description|  ©.B. Mepiypagr) | Description 0.B

ZwAnveg | Tubes (DxT) Weight (DxT) Weight

®8x1mm 0,060 d30x2mm 0,480
O10xTmm 0,080 d32x2mm 0,510
D12x2mm 0,170 D42,4x2mm 0,685
®16x1,5mm 0,184 d50x2mm 0,814 ZI‘]TI’]O’T& MaGg
T ®16x3,5mm 0,370 O60x2mm 0,984 T|pég
®18x2,0mm 0,270 D70x2mm 1,154
D ®20x1,85mm | 0,285 d80x2mm 1,320
®22x1,5mm 0,260 d100x2mm 1,663
d25x2mm 0,390 ®120x3mm 1,154
d26x2mm 0,407

Aapapiveg
AAoupiviou

Mepiypagr) | Description
(DXT)

Mepiypaer) | Description
(DxT)

2000x1000x0.60 mm

2500x1250x0.60 mm

2000x1000x0.80 mm

2500x1250x0.80 mm

2000x1000x1.00 mm

2500x1250x1.00 mm

2000x1000x1.50 mm

2500x1250x1.50 mm

2000x1000x2.00 mm

2500x1250x2.00 mm

2000x1000x3.00 mm

2500x1250x3.00 mm

2000x1000x4.00 mm

2500x1250%x4.00 mm

2000x1000x5.00 mm

2500x1250x5.00 mm

2000x1000x6.00 mm

2500x1250x6.00 mm

2000x1000x8.00 mm

2500x1250x8.00 mm

2000x1000x10.00 mm

2500x1250x10.00 mm

2000x1000x12.00 mm

2500x1250x12.00 mm

2000x1000x15.00 mm

2000x1000x20.00 mm

ZnNTNOoTE Pag
TIMEG

- MMTIOPOYN NA KOIOYN KAI NA EMNE=ZEPIAZTOYN KATOIIN MAPATTEAIAZ
- EMIZHZ YIIAPXOYN AAMAPINEZ TYTNOY KPIOAPAKI & MIMAKAABQTO

H ETAIPIA MAZ AIAGETEI YMNEPZYITXPQNO E=OMNAIZMO ONQzx
2TPANTZA - WAAIAI - LASER MNANTOIPA®O

48



A\luminium
Profile

5 >

KATAAOIOZ

E=APTHMATA BIOMHXANIKQN META®OPEQN
ACCESSORIES CONVEYOR SYSTEMS

@& www.aluminium-profile.gr

= sales@aluminium-profile.gr




MINIATURE DRIVI_

6 8 10
[ | > |
4 I 4 )
L
i8] -
§ -
- % & J
CODE PRODUCT NAME A B C L L1 | Roller Material Weight
TL 10 30x30 Drive plate 82| 30 | 13 | 115 | 100 | 61802 | ansemrilo | 969r
TL 20 45x45 Drive plate 102| 45 136 152 [129.5] 1202 | ,~SOMFC | 210gr
MINIATURE TENS_
4 )
- % & J
CODE PRODUCT NAME A B (o] L L1 | Roller Material Weight
TL 30 30x30 Tension plate 82| 30 | 13 | 115 | 100 | 61802 | \xwmrilo | 969
i 2ZKAHPO
TL 40 45x45 Tension plate  |10.2| 45 |13.6| 152 [129.5] 1202 | Arouwimio | 207 9r
TENSION DRIVE P‘
4 )
& J
CODE PRODUCT NAME A B E L L1 | Roller Material | Weight
TL 50 30x60-60x60 Tension plate | 80 | 38 | 20 | 165 | 60 - ANOYMINIO | 863 gr
TL 60 30x60-60x60 Drive plate 80 | 38 | 20 [ 165 | 108 | 6004 | AAOYMINIO | 931gr
TL 70 45x90-90x90 Tension plate | 90 | 55 | 19,3 | 200 | 69.8 - AAOYMINIO | 1043 gr
TL 80 45x90-90x90 Drive plate 90 | 55 [19,3]200 | 132 | 6004 | AAOYMINIO | 1115 gr

50



EZAPTHMATA META®OPEQN 23x127 DRIVE & TENSION PLATE

N N
TENSION DRIVE
J J
CODE PRODUCT NAME Material Weight
TL 100 23x127 Tension Plate Aoy | 1162 gr
TL 120 23x127 Drive plate Ao | 972gr
EZAPTHMATA META®OPEQN 23x75 DRIVE & TENSION PLATE
/ N / N
TENSION DRIVE
- J - J
CODE PRODUCT NAME Material Weight
TL 90 23x75 Tension Plate Ao | 181ar
TL 130 23x75 Drive plate Ao | 256 gr
- 25x105 MODULAR-PALLET
E=APTHMATA META®OPEQN
CONVEYOR PLATE
4 / N
25x105 MODULAR 25x105 PALLET
# 0 |-
!
- J - J
CODE PRODUCT NAME A B E L L1 Roller Material Weight
TL105 M 25x105 Modular conveyor left 90 | 40 | 14 | 170 | 130 6004 AAOYMINIO | 577 gr
TL105 R 25x105 Pallet conveyor right 90 | 40 | 14 | 170 | 130 6004 ANOYMINIO | 577 gr
TL105P 25x105 Pallet conveyor plate 120 | 65 | 17 | 250 | 185 6005 AAOYMINIO | 1343 gr
TL150 M 25x150 Modular conveyor left 130 | 65 | 17 245 | 165 6005 AAOYMINIO | 1400 gr
TL110R 25x150 Modular conveyor right 130 | 65 | 17 245 | 165 6005 AAOYMINIO | 1400 gr
TL150 L 25x150 Pallet conveyor left 150 | 75 | 17 | 245 | 185 6005 AAOYMINIO | 1500 gr
TL150 R 25x150 Pallet conveyor right 150 | 75 | 17 245 | 185 6005 AAOYMINIO | 1500 gr

51



E=APTHMATA META®OPEQN

MINIATURE CONVEYOR JOINT
PLATE & ROLLER

6 8 10
[ | >
/ N N
T, & / ﬁhﬁ%ﬁ% g
® P % ‘
¢ 5 Y
- J J
CODE PRODUCT NAME A| A1 B Bl C D H Material | Weight
TL 1 30x30 Miniature conveyor jointplate | 30 | - | 65 | - | 48 | - | 13 | AAOYMINIO| 129 gr
TL 2 30x30 Roller pin & connection parts | - (355 - |65| - | 33| 17 | AAOYMINIO [105,5 gr
TL 3 45x45 Miniature conveyor joint plate | 45| - |87,5| - |655| - | 17,5 | AAOYMINIO | 343 gr
TL A4 45x45 Roller pin & connectionparts | - | 36 | - |57 | - | 26 |14,6 | ANOYMINIO [186,5 gr
- 23x7 23x127 NVEYOR JOINT
EZAPTHMATA META®OPEQN 3x75 & 23 co OR JO
PLATE & ROLLER
/ N ~ N
- J - J
CODE PRODUCT NAME B © Material | Weight
TL 2375 LR 23x75 Conveyor joint plate 48 | 185 | 127 | AAOYMINIO | 450 gr
TL 237550 | 23x127 Roller ® 50 pin & connection parts | 29 | 36 | 50 | AAOYMINIO | 100 gr
/ x N ~ N
P,
Gl o
=5 R, | e
| i T\"_ 7 -
L] WA L] Ll L
eh Y As
_ 1'-\ .
3 .-
L} V. L]
- J -
CODE PRODUCT NAME A B ® Material | Weight
TL5R 23x127 Conveyor joint plate right 48 | 185 | 127 | anoymiNiO | 1289 gr
TL5L 23x127 Conveyor joint plate left 48 | 185 | 127 | AAOYMINIO | 1289 gr
TL6 23x127 Roller ® 50 pin & connection parts | 39 | 60 | 50 | AAOYMINIO | 230 gr
TL7 23x127 Roller @ 90 pin & connection parts | 60 | 100 | 90 | AAOYMINIO | 686 gr
TL 8 23x127 Elevator interior roller connection | 32 | - | 50 | AAOYMINIO | 52gr

52



E=APTHMATA META®OPEQN METAL SENSOR HOLDERS

6 8 10

4 7 4 N

5

\
-

& J

J
CODE PRODUCT NAME A B (o] D d Material Weight
TL 41 Sensor Connection Cassete Flat | 110 | 30 | 48,8 12,2 | 6.2 HRP 61 gr
TL 42 Sensor Connection Cassete Flat | 175 | 30 | 93,8 12,2 | 6.2 HRP 106 gr
TL 43 Sensor Connection Cassete Flat (L)| 128 | 30 | 48 [12,2 | 6.2 HRP 97 gr
TL 44 Sensor Connection Cassete Flat (S)| 168 | 30 | 28 |12,2 | 6.2 HRP 118 gr
TL 45 Sensor Connection Cassete Flat | 110 | 30 | 48,8 18,2 | 6.2 HRP 61,5 gr
TL 46 Sensor Connection Cassete Flat | 175 | 30 | 93,8|18,2 | 6.2 HRP 101 gr
TL 47 Sensor Connection Cassete Flat (L)| 128 | 30 | 58 [18,2 | 6.2 HRP 106 gr
TL 48 Sensor Connection Cassete Flat (S)| 186 | 30 | 53 (18,2 | 6.2 HRP 146,5 gr
EZAPTHMATA META®OPEQN PLASTIC SENSOR HOLDERS
4 ) 4 M
- -
- : L"'.
!
G J - J
CODE PRODUCT NAME A B c | D d E Material Weight
TL 31 Sensor Holder ® 10 | 60 | 20 | 30 (@19 |@10| 8 |MAAZTIKO 209r
TL 32 Sensor Holder ® 12 | 60 | 20 | 30 |@19 | @12| 6 |MAASTIKO 17 gr
E=APTHMATA META®OPEQN REFLECTOR CONNECTION PLATE
4 ) 4 7

Nl

N J . J
CODE PRODUCT NAME A B cC | D d Material Weight
TL 33 Flat horizontal 3 mm 64 | 92 | 44 |33 | 7 HRP 126 gr
TL 34 Flat vertical 3 mm 147,5| 50 | 48,8| 3,6 | 6.2 HRP 130,5 gr
TL 35 Conveyor (U) plate 146 | 90 | 103 | 8 8 HRP 685 gr

53



E=APTHMATA META®OPEQN CONECTION PLATES

& TORQUE ARMS
6 8 10
[ | N |
e N e N
TCONNECTION  GRADET
- e
. » <
N\ J N\ J
CODE PRODUCT NAME A B (o] D Material Weight
TL 51 T Connection 120 | 126 | 3 | 85| zINC 283 gr
TL 52 Grade T Connection 120 | 126 | 3 | 8,5 ZINC 271 gr
e N e N
FLATT T FLAT
2 : =B
N\ J N\ J
CODE PRODUCT NAME A B (o] D Material Weight
TL 53 Flat T Attachment 175 | 175 | 3 | 8,5 ZINC 601 gr
TL 54 T Flat Attachment 180 | 100 | 3 | 85 ZINC 563.5 gr
4 N\ 4 N\
o 7S
|l ' -
o i ‘-»._ = i y e
! G 5
— o 7
N\ J N\ J
CODE |PRODUCTNAME| D d A B L Material | Reducer Type | Weight
TL 55 | Torque arm | @45 | @8,2| 65 |143,5| 101 |3 mm ZINC EV 25 95,5 gr
TL 56 | Torque arm | @55 |@8,2| 78 | 164 | 115 |3 mm ZINC EV 30 127,5 gr
TL 57 | Torque arm | @60 | @8,5| 90 | 155 | 100 |3 mm ZINC EV 40 125 gr
TL 58 | Torque arm | @70 | @8,5| 100 | 170 | 106 |3 mm ZINC EV 50 164 gr
TL 59 | Torque arm | @80 |@10,5 115 | 200 | 130 |5 mm ZINC EV 63 333 gr
E=APTHMATA META®OPEQN TENSION BOLT-TENSION NUTS
4 N\ 4 N\
SRR &
§ 130
N\ J N\ J
CODE PRODUCT NAME Material Weight
TL 71 23 x 127 Tension bolt STEEL 8.8 50 gr
TL 72 23 x 127 Tension nut STAINLESS| 29gr

54



GRADE METAL_

6 8 10
[ | >
f M f
- I.'_g ik :
H =
! E -_,ﬁ r
; 3
i
- J -
CODE PRODUCT NAME A B L min L max Material | Weight
TL 73 Grade Metal Feet (small) 180 | 233 570 870 ZINC | 3.12Kg
TL 74 Grade Metal Feet (big) 200 | 240 750 1200 ZINC | 4.82Kg

6

8

4 £ ) e ~
| F&
N\ J N\
CODE PRODUCT NAME Dimension/mm | Inverter Weight
TL 75 Speed Panel inverter 0,37 Kw | 145x150x230 | LS-SV-IE5 | 2.150 gr
TL 76 Speed Panel inverter 0,37 Kw | 170x205x300 | LS-SV-IC5 | 2.950 gr
TL 77 Speed Panel inverter 0,75 Kw 170x205x300 | LS-SV-IC5 | 2.950gr
TL 78 Speed Panel inverter 1,75 Kw | 170x205x300 | LS-SV-IC5 | 2.950 gr

10

(> |

-
- J -
CODE PRODUCT NAME A B (o3 Material Weight
TL 91 Pallet conveyor roller unbarrier | 80 | 40 | 18 | NAASTIKO 45gr
TL 92 Pallet conveyor roller barrier 80 | 40 | 30 | nAasTIkO | 51gr

55



BOTTOM RET
ROLLER BE
4 ) 4 )
'
[
|
N\ J N\ J
CODE PRODUCT NAME A | B | C| @D Material |Weight
TL 93 Bottom return roller bearing | 100 | 30 | 9 | 7 | AAOYMINIO | 66gr

PLS ROLLER CHAIN‘

~
J
CODE PRODUCT NAME A | B | D | d | Material |Weight
TL 94 Roller chain wheel ®50 1/2 56 | 24,8| 50 | 12 | NAASTIKO | 82gr
TL 95 | Double roller chain wheel 50 1/2 [72,5| 24,5| 47 | 12 | nAAsTIKO | 87,6 gr
Y rusncsro R
4 M 4 M
- J - J
CODE PRODUCT NAME A | B |(@D| @d| Material |Weight
PLS 50 | PLSrollhead ®50 x 1,5 |27,5(19,5| 50| 47 | naAsTiko | 60gr
PLS 30 | PLSrollhead ®30x1 | 27 | 19 | 30| 28 | naasTiko | 11.50r
PLS 30 D | PLSrollhead ®30x1,5 | 27 | 19 | 30| 27 | nAaszTiko | 11gr
PLS 20 PLS roll head ®20x1 | 26 | 18 | 20| 18 | MAAITIKO | 5,59r
PLS 40 PLS roll head ®40 x 1,5 | 27 | 19 | 40| 38 | MAASTIKO | 60gr
PLS 40 B | PLS roll head ®40 x 1,5 black | 27,5|19,5| 50 | 47 | MAASTIKO | 60gr

56



 ESAPTHWATA METAGOPEQN

CONSOLE CONNECTION KIT

& SHAFT
4 ) 4 )
CLAMP HOLDER
]
]
w I
N ] J N J
CODE PRODUCT NAME A | B | C | D | Material |Weight
TL 61 Console body connection clamp |55,5| 21 21,8 |@12| NAAZTIKO | 32,5 gr
TL 62 Console cross holder ®12 56 | 39 |21,5(@12| NAASTIKO | 27 gr
4 N " M
DOUBLE SINGLE
1 .
Ul -
- — I
o -
f -2 ZI ? J' i e
- : - i
- a
\ J o J
CODE PRODUCT NAME A B | C D | Material Weight
TL 63 Single shaft holder ®12 38 | 24 | 27 | @12| npASTIKO | 249r
TL 64 Double shaft holder ®12 92 | 60 | 28 | @12 | MAASTIKO 96 gr
f M ~ N
el
| i
- ul
'
=0
NG J NG J
CODE PRODUCT NAME A D d H Material Weight
TL 65 Frame side connection mount | 93,5 | @50 | @10 | 77,5 | MNAASTIKO 486 gr
4 ) 4 )
Mo
| "r: 4
. 3
| &
- L y
\.l| J
- J - J
CODE PRODUCT NAME A D d H Material Weight
TL 66 Triple Feet 44 |@482| @50| 140 | NAAZTIKO | 1.045gr
TL 67 Frame loner connection mount| 70 | @50 | @10 | 175 | MAAZTIKO 344 gr

57



8 10
(N | N |
' N\ u ' N\
f
e X
o >
\ / !
\ Y, *"/ Y,
CODE PRODUCT NAME gD | M L Material Weight
TL 131 Console connection kit - - - Plastic 203 gr
TL 139 | Miniature console connection kit | - - - Plastic 179 gr

TL 133 |Console connection shaft (120mm)| @12 | M8 | 120 | Stainless steel | 103 gr
TL 134 |Console connection shaft (150mm)| @12 | M8 | 150 | Stainless steel | 130 gr
TL 135 |Console connection shaft (200mm)| @12 | M8 | 200 | Stainless steel | 175gr

SIDE BARRIER PROF
& FRICTION PLAS
6

10

PBB 40 PB 40

S
/4

17

s
PB 60
52,5
oy (\l_ﬂ.y_)
©
8,2 &

) i Moment of inertia
CODE Size Quality |L (mm) ™ Iy Area Mass
PB 40 40 mm 6063 | 6000 | 0,50cm’ | 1,06cm’ | 1,52cm? | 0,41Kg/m
PB 60 60 mm 6063 | 6000 | 0,77cm’ | 6,10cm’ | 2,83cm? | 0,77Kg/m
CODE Size PRODUCT NAME A | B | C | Material Mass
PBB40 | 40mm Side barrier (10x40) | 40 |95/ 4,5 PVC | 0,26 Kg/m
PBB 60 | 60mm Side barrier (13x60) 60 | 13| 7 | PVC | 0,35Kg/m

58



E=APTHMATA META®OPEQN ®76 TENSION DRUMS
e ™ ™
L
L1
= =
§ el ————————— = l ‘ﬁ@
g J J
CODE PRODUCT NAME | A5o¥INSM |oaPaOs| L | L1 | AA | @D | @d1 | @d2 | Material | Weight
TL 151 ®76 Tension drum | 23 x 127 300 |366|315| 14 | 76 | 20 9 |ANOYMINIO| 2557 gr
TL 152 ®76 Tension drum | 23 x 127 450 | 516 |465| 14 | 76 | 20 | 9 |AAOYMINIO| 3.607 gr
TL 153 ®76 Tension drum 23 x 127 600 666 | 615 | 14 76 20 9 |AAOYMINIO| 4.646 gr
TL 154 ®76 Tension drum | 23 x 127 800 | 866 | 815 | 14 76 20 9 |AnOYMINIO| 6.321 gr
TL 155 ®76 Tension drum | 23 x 127 1000 |1066|1015| 14 76 20 9 |AAOYMINIO| 7.432gr
TLT 30 @76 Tension drum 23x75 300 366 | 315 | 14 76 20 8.5 |ANOYMINIO| 2.405 gr
TLT 45 ®76 Tension drum 23 x75 450 | 516 | 465 | 14 76 20 | 85 |AAOYMINIO| 3.457 gr
TLT 60 @76 Tension drum 23x75 600 666 | 615 | 14 76 20 8.5 | AAOYMINIO| 4.509 gr
TLT 80 ®76 Tension drum 23x75 800 | 866 | 815 | 14 76 20 | 85 |AAOYMINIO| 5.911gr
TLT 100 @76 Tension drum 23x 75 1000 |1066|1015| 14 76 20 8.5 |AAOYMINIO| 7.314 gr
E=APTHMATA META®OPEQN ®76 DRIVE DRUMS
e ™ ™
8
3
N J J
CODE PRODUCT NAME | ALo¥INUM |oapaos| L [ L1 | A | oD | @d1 | @d2 | Material | Weight
TL 156 ®76 Drive drums 23x 127 300 |516.6|315 | 82 76 | 20 | 18 |AAOYMINIO| 2.943 gr
TL 157 ®76 Drive drums 23x 127 450 |666.6|465 | 82 76 | 20 | 18 |AAOYMINIO| 3.973gr
TL 158 ®76 Drive drums 23x 127 600 |816.6|615 | 82 76 | 20 | 18 |AAOYMINIO| 5.017 gr
TL 159 ®76 Drive drums 23 x 127 800 [1016.6/815 | 82 76 20 18 | AAOYMINIO| 6.385 gr
TL 160 ®76 Drive drums 23 x 127 1000 [1216.6/1015| 82 76 20 18 |AAOYMINIO| 7.810 gr
TLD 30 ®76 Drive drums 23x75 300 |464.1|315| 82 76 20 18 |AAOYMINIO| 2.745 gr
TLD 45 ®76 Drive drums 23x75 450 |614.1465 | 82 76 20 18 |AAOYMINIO| 3.797 gr
TLD 60 ®76 Drive drums 23x 75 600 |764.1|615| 82 76 20 18 |AAOYMINIO| 4.849 gr
TLD 80 ®76 Drive drums 23x75 800 |964.1(815| 82 76 | 20 | 18 |AAOYMINIO| 6.252 gr
TLD 100 ®76 Drive drums 23x75 1000 |[1164.1]1015| 82 76 20 18 | AAOYMINIO| 7.654 gr

59




E=APTHMATA META®OPEQN

®114 TENSION DRUMS

4 N 4 N
L
L1
g J g J
CODE PRODUCT NAME |®APAOX| L L1 | AA | @D | @d1 | @d2 | Material | Weight
TD 30 ®114 Tension drums| 300 | 366 | 315 | 14 | 114 25 9 |AAOYMINIO| 4.446 gr
TD 45 ®114 Tension drums| 450 516 | 465 | 14 114 25 9 |AAOYMINIO| 6.231 gr
TD 60 114 Tension drums| 600 666 | 615 | 14 114 25 9 |AAOYMINIO| 7.665 gr
TD 80 ®114 Tension drums| 800 | 866 | 815 | 14 | 114 25 9 |AAOYMINIO| 10.220 gr
TD 100 ®114 Tension drums| 1000 |1066|1015| 14 | 114 25 9 | AAOYMINIO | 12.540 gr
TD 120  |®114 Tension drums| 1200 | 1271|1220 20 | 114 | 30 9 |AAOYMINIO | 17.160 gr
TD 135  |®114 Tension drums| 1350 | 1421|1370| 20 | 114 | 30 9 | ANOYMINIO | 19.240 gr
TD 150 |®114 Tension drums| 1500 |1571|1520| 20 | 114 | 30 9 |ArOYMINIO| 21.120 gr
E=APTHMATA META®OPEQN ®114 DRIVE DRUMS
e N e N
L
N J N J
CODE PRODUCT NAME |®APAOZ| L | L1 | A | @D | @d1 | @d2 | Material | Weight
TD30A | ®114Drivedrums | 300 | 541|315 138 | 114 | 25 | 25 |AnovymINIO| 5.235gr
TD 65 A ®114 Drive drums | 450 691 | 465 | 138 | 114 25 25 |AAOYMINIO| 6.979 gr
TD 60 A ®114 Drive drums | 600 | 841 | 615 | 138 | 114 25 | 25 |AAOYMINIO| 8.658 gr
TD 80 A ®114 Drive drums 800 (1041|815 | 138 | 114 25 25 | AAOYMINIO | 10.980 gr
TD 100 A | 114 Drive drums | 1000 |1241[1015| 138 | 114 | 25 | 25 |AAOYMINIO|13.280 gr
TD 120 A | ®114 Drive drums | 1200 |1500(1220| 138 | 114 | 30 | 25 |AAOYMINIO|18.200 gr
TD 135 A | ®114 Drivedrums | 1350 1650|1370 | 138 | 114 30 | 25 |AAOYMINIO| 19.980 gr
TD 150 A | ®114 Drive drums | 1500 |1800|1520| 138 | 114 | 30 | 25 |AAOYMINIO| 21960 gr

60



EZAPTHMATA META®OPEQN ®50 ALUMINIUM ROLLER

61

e ™ e ™
L
L1
L2 CAPACITY
il . 250 KG
Q <! T i i
Q| <F7 A‘L L =
N ) N )
CODE PRODUCT NAME L L1 | L2 | @D | AA | Material Weight
TL 290 ®50 x 290 Aluminium roller 335 | 310 | 320 | 50 | 8 |AAOYMINIO| 584 gr
TL 440 D50 x 440 Aluminium roller 485 | 460 | 470 | 50 | 8 |AAOYMINIO| 816gr
TL 590 ®50 x 590 Aluminium roller 635 | 610 | 620 | 50 | 8 |AAnOYMINIO| 1.079gr
TL 790 ®50 x 790 Aluminium roller 835 | 810 | 820 | 50 | 8 |AAOYMINIO| 1.384gr
e ™ e ™
L
L1
| - | CAPACITY
‘ ‘ 300 KG
= |
Sl -
g J g J
CODE PRODUCT NAME L L1 | L2 | @D | AA | Material Weight
KNU 29 |50 x 290 Aluminium KNURLED | 335 | 310 | 320 | 50 | 8 |AAOYMINIO| 880gr
KNU 44 |50 x 440 Aluminium KNURLED | 485 | 460 | 470 | 50 | 8 |AAOYMINIO| 1300 gr
KNU 59 |®50 x 590 Aluminium KNURLED | 635 | 610 | 620 | 50 | 8 |AAOYMINIO| 1720 gr
KNU 79 |®50 x 790 Aluminium KNURLED | 835 | 810 | 820 | 50 | 8 |AAOYMINIO| 2280 gr
KNU 99 |®50 x 990 Aluminium KNURLED | 1035 | 1010 | 1020 | 50 | 8 | AAOYMINIO | 2850 gr
E=ZAPTHMATA META®OPEQN ®51 STEEL ROLLER
e ™ e ™
L
L1 .
L2 CAPACITY
‘ 400 KG
8 2‘:«[; H
N J N J
CODE PRODUCT NAME L | L1| L2 | @D | AA | Material | Weight
TL290 S 51 x 290 Steel roller 318 | 300 | 290 | @51 14 Steel 1603 gr
TL440 S ®51 x 440 Steel roller 468 | 450 | 440 | @51 14 Steel 2426 gr
TL590 S ®51 x 590 Steel roller 618 | 600 | 590 | @51 | 14 Steel 3162 gr
TL790S ®51 x 790 Steel roller 818|800 | 790 | @51 | 14 Steel 3987 gr
TL 1000 S ®51 x 1000 Steel roller 1018/1000| 990 | @51 | 14 Steel 4812gr
TL 1200 S ®51 x 1200 Steel roller 1223|1205 1195 | @51 | 14 Steel 5662 gr



E=APTHMATA META®OPEQN

MINIATURE TENSION DRUMS

~

~

e R e
L
L1
|
/
fffff -l o
N J N
CODE PRODUCT NAME [®APAOZ| L L1 | @D | @d | Material | Weight
TDS 25 ®30 Tension drums| 25 42 | 28 | 30 | 15 Steel 160 gr
TDS 55 ®30 Tension drums| 55 72 | 58 | 30 | 15 Steel 346 gr
TDS 85 ®30 Tension drums | 85 102 | 88 | 30 | 15 Steel 645 gr
TDS120 ®30 Tension drums | 120 140 | 126 | 34 15 Steel 855 gr
TDS 40 |P45Tensiondrums| 40 63 | 43 | 45 | 15 | Steel | 668gr
TDS 85 | d45 Tension drums| 85 108 | 88 | 45 | 15 Steel | 1.607 gr
TDS 130 | ®45 Tension drums| 130 153 | 133 | 45 | 15 Steel 1.927 gr
TDS 150 ®45 Tension drums | 150 176 | 156 | 49 15 Steel 1.979 gr
TDS 175 |45 Tension drums| 175 198 | 178 | 45 | 15 Steel | 2.629gr
TDS 200 |®45Tensiondrums| 200 | 226 | 206 | 49 | 15 Steel | 2.919gr
TDS 300 |®45Tensiondrums| 300 | 326 | 306 | 49 | 15 Steel | 4.389gr
TDS 450 |®45Tensiondrums| 450 | 476 | 456 | 49 | 15 Steel | 4.399 gr
EZAPTHMATA META®OPEQN MINIATURE DRIVE DRUMS
e R e
L
L )
§ 1 3
N J N
CODE PRODUCT NAME ®APAOZ L L1 | @D | @d | Material | Weight
DDS 25 ®30 Drive drums 25 121 28 | 30 | 14 Steel 256 gr
DDS 55 ®30 Drive drums 55 151| 58 | 30 | 14 Steel 455 gr
DDS 85 ®30 Drive drums 85 181 88 | 30 14 Steel 723 gr
DDS 120 ®30 Drive drums 120 219 | 126 | 34 14 Steel 989 gr
DDS 40 ®45 Drive drums 40 140 | 43 | 45 | 14 Steel 650 gr
DDS 85 ®45 Drive drums 85 185| 88 | 45 | 14 Steel 1.195 gr
DDS 130 ®45 Drive drums 130 230 | 133 | 45 | 14 Steel | 1.750 gr
DDS 150 ®45 Drive drums 150 253 | 156 | 49 | 14 Steel 2.376 gr
DDS 175 ®45 Drive drums 175 275 | 178 | 45 | 14 Steel 2.694 gr
DDS 200 ®45 Drive drums 200 303 | 206 | 49 | 14 Steel 3.102 gr
DDS 300 ®45 Drive drums 300 403 | 306 | 49 | 14 Steel 4.543 gr
DDS 450 ®45 Drive drums 450 553 | 456 | 49 | 14 Steel 6.706 gr

62



E=APTHMATA META®OPEQN KNURLED TENSION DRUMS

CODE PRODUCT NAME |®APAO:| A | L | L1 | @D | @d | Material | Weight

KNT 40 ®45 Tensiondrums | 40 | 25|63 |43 | 50 | 15 |AAOYMINIO| 170gr

KNT 85 ®45 Tension drums| 85 | 25 [108| 88 | 50 | 15 |AAOYMINIO| 260 gr

KNT 130 | ®45 Tensiondrums| 130 | 25 |153|133| 50 | 15 |AAOYMINIO| 350 gr

KNT 150 | @45 Tensiondrums| 150 | 25 |176]156 | 50 | 15 |AAOYMINIO| 390 gr

KNT 175 | ®45 Tensiondrums| 175 | 25 (198(178 | 50 | 15 |AAOYMINIO| 430gr

KNT 200 | ®45 Tensiondrums | 200 | 25 |226|206| 50 | 15 |AAOYMINIO| 490 gr

KNT 300 | ®45 Tensiondrums| 300 | 25 326(306| 50 | 15 [AAOYMINIO| 670 gr

KNT 450 | ®45 Tensiondrums | 450 | 25 [476|456| 50 | 15 |AAOYMINIO| 950 gr

E=APTHMATA META®OPEQN KNURLED DRIVE DRUMS

L1

7°

E
E

_A_| 8 B

\§ J \§ J

CODE PRODUCT NAME ®APAO: | A |[B | L | L1 | @D | @d | Material | Weight
KND 40 ®45 Drive drums 40 25 | 45 [140 | 43 | 50 | 14 | AAOYMINIO | 270 gr
KND 85 ®45 Drive drums 85 25 |45 [185| 88 | 50 | 14 | AAOYMINIO | 380 gr
KND 130 ®45 Drive drums 130 25 | 45 |230 | 133 | 50 | 14 | AAOYMINIO | 470 gr
KND 150 ®45 Drive drums 150 25 | 45 |253 | 156 | 50 | 14 | AAOYMINIO | 510 gr
KND 175 ®45 Drive drums 175 25 | 45 |275 (178 | 50 | 14 | AAOYMINIO | 550 gr
KND 200 ®45 Drive drums 200 25 | 45 [303 (206 | 50 | 14 | AroymINIO | 610gr
KND 300 ®45 Drive drums 300 25 | 45 |403 (306 | 50 | 14 | AAOYMINIO | 790 gr
KND 450 ®45 Drive drums 450 25 | 45 | 553 |456 | 50 | 14 | anoymiNio | 1070 gr

63



MODULAR & PALLET CONVEY
DRIVE AND TENSION MIL

4 N
//Z//
- )
L2
A L3
&
=
S
CODE PRODUCT NAME ®APAOZ | L L1 | A | @D | @d | Material Weight
PDM 82 Pallet conveyor drive miller | 82,2 |132,5/100,5| - | @30 | @25 Steel 670 gr
PDM 114 Pallet conveyor drive miller | 1145 | 165 | 133 | - | @30 | @25 Steel 860 gr
PDM 190 Pallet conveyor drive miller | 190,5 |241,5/209,5| - | @30 | @25 Steel 1270 gr
PTM 82 Pallet conveyor tension miller | 82,2 |235,5/100,5| 119 | @30 | @25 Steel 1040 gr
PTM 114 Pallet conveyor tension miller | 114 268 | 133 | 119 | @30 | @25 Steel 1220 gr
PTM 190 Pallet conveyor tension miller | 190 | 344,5|209,5| 119 | @30 | @25 Steel 1650 gr

N 4 N
J o J
L2
L
o A L3
Jee —- — > :?
8 g 8 8
CODE PRODUCT NAME ®APAOX| L L1 | A | @D | @d | Material Weight
PDM 200 Modular conveyor tension shaft 200 250 | 218 | - | @30 | @25 Steel 1300 gr
PDM 300 Modular conveyor tension shaft | 300 350 | 318 | - | @30| @25 Steel 1860 gr
PDM 400 Modular conveyor tension shaft | 400 450 | 418 | - | @30 | @25 Steel 2410 gr
PDM 200 S | Modular conveyor drive shaft 200 | 353 | 218 | 119 | @30 | @25 |  Steel 1680 gr
PDM 300 S | Modular conveyor drive shaft 300 453 | 318 | 119 | @30 | @25 Steel 2240 gr
PDM 400 S | Modular conveyor drive shaft 400 553 | 418 | 119 | @30 | @25 Steel 2790 gr

64



KAGAPISTIKAAAOYMINIOY /748 Aluminium

KaBapioTikd AAoupiviwv SCOOP

Kpepwdng aloigr. KaBapilel, yualiel kal eEaAEiQel TIG YPATOOUVIEG,
TNV 0&eidwaon Kal TIG KNAideg o€ péTaAAa. EIDIKS yia TTOPTES Kal
TTapdBupa aAoupiviou.

Agv a@rivel OTAUTTEG Kal OV aalpei TNV yuaAdda aTrd TNV ETTIQAVEIQ.
Eyyunuéva kKaAo atrotéAeapa o€ AiyoTepo atmo 1 AeTrTo.

OAHIIEZ XPHZHZ:

- AvakIviioTe KaAQ TO JTTOUKAAI TTpiv TRV Xprion.

- EQapudoTte pia pikp ToodTNTA OTNV ETTIPAVEIQ TTPOG ETTECEPYATIA.

- TpiwTe KOAG e Eva kaBapd TTavi yia va emTeuxOei TO €TBUPNTO
QTTOTEAEC Q.

>uokeuaaoia: 1000 gr

KaBapioTikd AAoupiviwv NEW LINE

IAIOTHTEZ & EQAPMOlEZ

ATTOoTEAEOPATIKO TTPOIOV YIO TOV KABAPIOUO TWV ETTECEPYOTHEVWV PE NAEKTPOOTATIKN
Bagn ahoupiviwy «oTTWG TTapaBupa, TTavi{oupIa, UTTAAKOVOTTOPTEG K.T.A.

A@aipei Aek€deg atrd Kauaaépia, GAaTa vepou, dIAPOPES EEPANEVES ETTIKOBIOEIG
eUKoAa Kkal ypriyopa. Agaipei 1Tiong UTToAEippaTa KOAAAG atTd XapTOTAIVIEG,
TTAOOTIKEG TAIVIEG, KABWG Kal UTTOAEiYpaTa agpou TToAuoupeBdvng, TTAACTIKA
XPWHOTA £QOOOV eV £xEl TTEPATEl BIAOTNUA HAYAAUTEPO TwV 2-3 NuEPWV. [davikd
TTPOIOV yIa ToV KABapPIoPO AAOUNIVOKOTACKEUWY AUECWS META OTTO OIKODOMIKES
EPYAOieg KOTAOKEUNG, ETTIOKEUNG 1] GUVTAPNONG.

NEPIEXEI: Aiyétepo atré 5% pn 10VIKEG Kal QVIOVIKEG ETTIQAVEIODPACTIKEG OUCTIEG.

NMAEONEKTHMATA

- ‘Exer ypriyopn dpdon Kai dpIoTo ATTOTEAECUA KABAPIOUOU, O€ JIKTOUG AEKEDEG TTOU
TIPOKUTITOUV aTTd TNV UYpPacia TG aTHOo@aIpag Kal GAAwY AITTapwyV ETTIKOBACEWV.

- Aev IABPWVEI TIG ETTIQAVEIEG TWV AAOUMIVIWV KAI ITTOPET va XpNoIPOTToINGE yia
TEPI0BIKG KABAPIoHO.

- Agaipei uttoAgippata KOANaG atrd xapToTaIvieg, TTAAOTIKEG TAIVIEG
TToAuoupPEBAvVNG, p.v.C.

- Agaipei (TiIToIAiopaTa a1rd Ta TTAACTIKG XPWHOTA £VTOG 2-3 NUEPWV)

- 2UOKEUAOia O€ spray yia EUKOAia aTn Xpron.

2uokeuaaoia: 500 ml

Aluminium Cleaner Durostick

KaBap1oTiKG uypo yio AAOUMIVOKOTAOKEUES

ApaoTikd KaBaploTikd TTou aalpei EUKOAQ, YE Eva TTEpacua, pUTTOUG aTTd
Kauoaépla, aAaTta, Xpwuara, AacTroBpoxr, KaBwg Kal vwTTd (2-3 nUEPWYV TO TTOAU)
mToINioPaTa TTAACTIKWY XpwudTwy. Eivar 1idavikd yia xprion g€ KoupwuaTta
aAoupiviou-apaga | TTEPACHEVA HE NAEKTPOOTATIKA BAP-Xwpig va aAAOIWVEL N
va ETTNPEACEI TO APXIKO TOUG XPWHA.

2uokeuaaoia: 500 ml

65



-

® 2TIC TTapatTdvw TIPEG dev TTepIAauBaveTal o O.I.A.

® TpdT1Tog TTANPWHAG METPNTOIC

® Ta YETOPOPIKA ETTIBAPUVOUV TOV TTEAATN

® O TTapWV TINOKATAAOYOG KATAPYEI TOV TTPONYOUNEVO

® 210 TTPO@IA DEV yivovTal ETTIOTPOPEG

® >T1a £€apTAMATA Ol ETTICTPOYPES Ba yivovTal KATOTTIV OUVEVVONONG

® XpOvog TTapadoong KATOTTIV ouvevvonong

® H cTaipia dev QEpel Kapia euBuvn yia Tuxov @BopEC atrd TNV HETAPOPA

APIOMOZ AOIAPIAZMOY TPAIEZA MNEIPAIQZ:
Ap. hoy.: 5242 0035 75529
IBAN: GR 22017 22420 00524 20035 75529

-

66



INDUSTRIAL ALUMINIUM PROFILE SYSTEMS

- P T o A\ Tl
Profile

/Frnslrnﬁﬁuzus

EMIMOPIA ZIAHPOY - AAOYMINIOY - T'YWOZANIAAZ - XPQMATQN
2OBAAQN - INOX NMANTOZ TYINOY - BIOMHXANIKA EPIrAAEIA
(ZTPANTZA - WAAIAI - KYAINAPOZ - MTANTOIPA®OZ)

Aoort MEIMAPIAH O.E.

2tadiou 97 - Bépola
TnA.: 23310 23342 - 23178 /| Fax: 23310 67869
www.meimaridis.gr | info@meimaridis.gr

A\
kNAUF zame  Awminco

MODULAR CONSTRUCTION TECHNOLOGIES

KATAAOIOXz
- PRICE LIST
:-,*5-* = e-mail: sales@aluminium-profile.gr
;ﬂiﬁrﬁf " www.aluminium-profile.gr

P




